mmﬂ= E BT = 15!

Delight Through Connections

DINKLE ENTERPRISE CO., LTD.

No.19,Wuquan 2nd Road., Wugu District,
New Taipei City 24890, Taiwan
TEL:+886-2-8069-9000  7705-6900
FAX:+886-2-2290-1702
E-mail:service@dinkle.com
Web:www.dinkle.com

DINKLE INTERNATIONAL CO., LTD.

No.19,Wuquan 2nd Road., Wugu District,
New Taipei City 24890, Taiwan
TEL:+886-2-8069-9000  7705-6900
FAX:+886-2-2290-1702
E-mail:service@dinkle.com
Web:www.dinkle.com

OPTIKLE INTERNATIONAL CO., LTD.

Room 29, 1/F, Block B, Proficient Industrial Center,
No.6 Wang Kwun Road, Kowloon Bay, Kowloon,
Hong Kong

TEL:+852-2795-3840  2758-8005
FAX:+852-2753-6919

E-mail: Service.LY.Sales@dinkle.com.cn
Web:www.dinkle.com

DINKLE ELECTRIC MACHINERY (CHINA) CO., LTD.

No.388,Xingpu Mid RD,Shipu Business Adminstration Estate,
Qiandeng Town, Kunshan City, Jiangsu Province, China
TEL:+86-512-5708-8588

FAX:+86-512-5708-8600

E-mail: Service.SH.Sales@dinkle.com.cn

Web: www.dinkle.com/kscn/

LIYAN ELECTRIC MACHINERY (DONGGUAN) CO., LTD.

No.16 2st street Jingian Ridge, Jiming gang village,
Huangjiang town, Dongguan City, Guangdong Province
TEL:+86-769-8336-4350 8336-4370
FAX:+86-769-8336-4314
E-mail:Service.LY.Sales@dinkle.com.cn
Web:www.dinkle.com/cn/

DINKLE CORPORATION, USA

13748 Pike Road. Missouri City, Texas, USA 77489
TEL:+1-832-539-4703

Toll-Free:+1-844-273-1850

FAX:+1-832-532-7226
E-mail:Service.US.Sales@dinkle.com
Web:www.dinkle.com/en/home

DINKLE S.R.L. ITALY

Via Stabilini n°14, 23864 Malgrate (LC), Italia
TEL:+39/0341176154

E-mail: Service.lt.Sales@dinkle.com
Web:www.dinkle.com/it/

DINKLE ELECTRIC TRADING (SHANGHAI) CO., LTD.

Unit 3706, 2 Grand Gateway, No. 3 Honggiao Road,
Xuhui District, Shanghai City.
TEL:+86-21-6487-0636 6487-5423
FAX:+86-21-3356-2500

E-mail: Service.SH.Sales@dinkle.com.cn

Web: www.dinkle.com/cn/

Beijing Sales Office
TEL:+86-10-5873-4338
FAX:+86-10-5873-4337

E-mail: Service.SH.Sales@dinkle.com.cn
Web: www.dinkle.com/cn/

Xi An Sales Office
TEL:+86-29-8885-8475
FAX:+86-21-3356-2500

E-mail: Service.SH.Sales@dinkle.com.cn
Web: www.dinkle.com/cn/

4 N
:J;‘ E—mail : service@dinkle.com
E-. = \Web : www.dinkle.com K j

Dinkle remains the right of product modification and engineering change of design.
The catalogue is for reference only. The final product is made according to actual

engineering drawing.

BAMBERICEL T, BEPRIEESHITOND L, HhROTBESETHY),

FRRIEREZEEE T3,

TREHERRBIEN  RBE - BREHRSS  BRERDRERRIEER

JUL./2022

Circular

Connec

or

M8/M12 [EIfZiE %23

| —~—

DINKLE

H ¥ EXRIRDBRAT
DINKLE ENTERPRISE CO., LTD.

DC-33.2T



M8 / M12

N
Ll
i s
O
O

] 4 7 2351

£ 1083 FRITIRUR - AT MR B A M N B RS TERS - HIsFAREHE . == OO 4:|: b Ilj
ﬁJZLXHﬁﬁ?“*JL%TZ/L\E’JEﬂiﬂzﬂﬁ%"LME%?—‘E&%DEHE’JEE%%%EEQ%}Ef%i‘ B | I== nn == B T
W] REER 40 FRE SIS R E N LS AREEER - BEZSHNER - FREBE - B
Eﬁﬂﬁ%ﬂ%ﬁ%ﬁ%&%%%%ﬁo%5%§%ﬁ%ﬁm&ﬁﬁ%ﬁ%%ﬂ%’K%m%%@ st
« TAEIARAE - RIGRE

2 AoAm N e AT
SEWIE - CESSRKFANERE CRTHEEATE 40 HNRERROESRE * 5 P68 FIERE - MK
& CERUEERNEEER FIARSRUEBNRASE - P IREAIE B .
¥ CEASTERNERBY  BRM BRETER 1! s IR - 360° TR
o [ [ 38 A AR
Dinkle Group was established in 1983, and since that time has insisted on constant innovation « 5 RoHS &%

and preserving an excellent craftsman's spirit. Starting with a core business of terminal block
manufacturing, Dinkle has expanded to provide many outstanding products, deliver highly efficient
global service, and promote close connections with end users.

Dinkle has accumulated extensive experience through close cooperation with global customers
and application of advanced technologies in the market. Attentively listening to customers, correctly
understanding their needs and accurately providing solutions are the key to Dinkle's success and
creates end users' satisfaction. Customer support and trust increases our continuous passion and
motivation to continue innovating.

Dinkle appreciates our role as an ideal win-win partner for your diverse needs; let us Delight
Through Connections!!




RENRSERERE
AR - BHEW -

BEIHMREEDEEERS  AMFEIENER - ERNEEGR - DURITRECHNE
EEMENETCERBERRSE -  BRTESFEANBRBRNEREE  E2AREEAE
RIBSRLIKEREBEE - 03 H RS EBAANIRH I EENFERRSE -

B FIRZE M12 / M8 B EZRE A SREM MBI MRS - e IP67 R EEK - @AR
BRER  mE2ANRSNWBSTEREE - IRRGEEIRFGEEK - IDFRMHER  E5R - ¥
ImFEEAY PVC A1 PUR &8 - EIRGECARRE - WARRSBIEEER

EmB
WAEOAREE RE S HH) Y SHE g
< DIEEHER  BNEHE - 8 - /E UL2237/UL2238 RAGRE - RIESEREEE
BEADER K- ERENIRELT - BEREMITENE O IRFEKEANE -

* |P68 #BIR[KZER « {k#Z IEC 61076-2-101/104/111 1 &t PUR - PVC H{EE

#ERET - 360° =R

= 5|

M12 FR VB iz E R
M12 FF4R T\ Rl A-Code P.2~3
M12 %40 Rk B-Code & D-Code P.4~5
—RRER AR P1 | M12 H{R #EH A-Code P.6~7
M12 R ERik B-Code & D-Code P.8~9
M12 FHR BRI Y B =383%88 A-Code P.10
T .y M12 F4E X Rl - %@ &R (PROFINET, EtherCAT, Ethernet) P.12~14
M12 F45 30 Fill - IR54242 % A (CC-Link, CANopen, PROFIBUS) P.15~17
EiFEEE P.18 | M12 T4 R S-Code & T-Code P.19~20
M12 ARV E 7 iE =R
g ) TEMEE P21 M12 R ETEEE(PI/[\)) ?%f:? A-Csfje & B-Code & D-Code P.22
M12 PID #AZ (B i@ R a8 A R AR P.23
M12 BiRTE A7 E 2R
M12 Fif %484 A-Code P.25
. . M12 RE#k %544 B-Code & D-Code P.26
AR/ TR P24 1) o osinie - @5mILER (PROFINET, EtherCAT) P27
M12 R &5 484% - 8354428 (CC-Link, CANopen, PROFIBUS) P.28
M12 |B|REH FEF4R & EMET A-Code P.30~31
—RRENSE / EIREEEN P29 M12 BRE# FE T4 & (M £t B-Code & D-Code P.32~33
M12 &R 75E 4R S-Code & T-Code P.34~35
M12 PCB B/ iE =23
M12 Bk / # Rl PCB =( A-Code P.37
M12 Rk | BRFi#k PCB ={ A-Code PCB 4 <=l P.38~39
—hzENaR / EIREEEN P.36 | M12 RFilft / #RFi#k PCB = B-Code & D-Code P40
M12 Rl / # R ik PCB ={ B-Code & D-Code PCB 143 ~[El P.41~42
M12 Bk / #R#z PCB =, T-Code & PCB K43 ~[E P.43
M8 F4x= / HiRT / PCB B2 iE %23
— izt 5% P44 | M8 %4 |FK A-Code & B-Code P.45~46
—AZER IR P47 | M8 ERFil HE T4 & [FMEr A-Code & B-Code P.48~49
— AR IR P.50 | M8 #RFilt PCB ={ A-Code & B-Code & PCB K ffh#z /~El P.51

[Ty P.52

i



M12 %4R30 R A-Code

- ~
M12 48 B s id s e A x| A | A
l|‘7 I — / # B 3 4 5 8 12
SAEERE / Ein 250V / 4A 250V / 4A 60V / 4A 30V /2A 30V /1.5A

AP BIS S5 S 8% S

_ﬂﬂéﬂ “,’é _ : : :
I 3 30% - DOHO0OS

o BEME RE (m) an 5%

Nl P N

N

8ixS QAwP HBi%S

§ OO

| | (O1201103
(0000
9,002

B532 180° Al 2 251-A3000-255020 251-A4000-25S020 251-A5000-25S020 251-A8000-25S5020 251-AC000-255020
M12 B S 22442 IEC 61076-2-101 85t - SIS EEBALELE B SET G - PVC 5 251-A3000-255050 251-A4000-25S050 251-A5000-25S050 251-A8000-25S050 251-AC000-25S050
FIE I . SE ARSI EE KRN E - BEEER  BES EANRESEESD 10 251-A3000-25S100 251-A4000-255100 251-A5000-255100 251-A8000-25S100 251-AC000-255100
E/\] TERRSE - Il FEF EEEMHREINAEGRERTE RSB ENER 2T 2 251-A3000-05S5020 251-A4000-05S020 251-A5000-05S020 251-A8000-05S020 251-AC000-05S5020
semg AT TR Zanth | G A DS ERN TN TEER - PUR 5 251-A3000-05S050 251-A4000-05S050 251-A5000-05S050 251-A8000-05S050 251-AC000-05S050
I — 10  251-A3000-05S100 251-A4000-05S100 251-A5000-05S100 251-A8000-05S100 251-AC000-055100
f‘l’ %ﬂL I%f% iﬁ E,(J%E F‘EE JEH/Q_\E iﬁf, , T% 1#\;; Elﬁl: %TE/‘] PVC E’i\i PUR I%ﬁm ? > /{ /iﬁ ,@ Fﬁ }5 jZ PVC %]L 812 180° Bin 2 252-A3000-25S020 252-A4000-25S020 252-A5000-25S020 252-A8000-25S020 252-AC000-25S020
SEHSZ2AEABRENERD  BRMRS . & pﬁ ASSE L S ESHEHISIE - PUR 88|12 ®- PVC 5 252-A3000-25S050 252-A4000-25S050 252-A5000-25S050 252-A8000-25S050 252-AC000-25S050
BRESWTRRE « Mzt - METURNEY  SSTEEEEMmAEEBEH (HIUgHTS) 10 252-A3000-25S100 252-A4000-25S100 252-A5000-255100 252-A8000-25S100 252-AC000-255100
TERIR G IRAEIRIE 2 252-A3000-05S020 252-A4000-05S020 252-A5000-05S020 252-A8000-05S020 252-AC000-05S020
PUR 5 252-A3000-05S050 252-A4000-05S050 252-A5000-05S050 252-A8000-05S050 252-AC000-05S050
M= TXFEINZTR(E IEAREBEESAGHNEHNEBLGERALE  RANVRERGSEESS G 10  252-A3000-05S100 252-A4000-05S100 252-A5000-05S100 252-A8000-05S100 252-AC000-055100
VB EEBA MM S ERIBIEME RN TIE  BRE F!? D@ S F RN EIIEE - 2500 2838 90° Al 2 253-A3000-255020 253-A4000-255020 253-A5000-25S020 253-A8000-255020 253-AC000-255020
Rt - B EF S m e 2R NEEIRE  WEIRZENGENEEN S L& - - PVC 5  253-A3000-25S050 253-A4000-25S050 253-A5000-25S050 253-A8000-25S050 253-AC000-25S050
10 253-A3000-25S100 253-A4000-25S100 253-A5000-255100 253-A8000-25S100 253-AC000-255100
2 253-A3000-05S020 253-A4000-05S020 253-A5000-05S020 253-A8000-05S020 253-AC000-05S020
PUR 5  253-A3000-05S050 253-A4000-05S050 253-A5000-05S050 253-A8000-05S050 253-AC000-05S050
=] 10  253-A3000-05S100 253-A4000-055100 253-A5000-05S100 253-A8000-05S100 253-AC000-055100
e el s 1 EREH B3 90° B 2 254-A3000-255020 254-A4000-255020 254-A5000-255020 254-A8000-255020 254-AC000-255020
B/ NMERRE 100 250VAC / 4A (< 4 Pin) - PVC 5 254-A3000-25S050 254-A4000-25S050 254-A5000-25S050 254-A8000-25S050 254-AC000-25S050
T IP68 SU— B0VAC / 4A (5 Pin) 10  254-A3000-255100 254-A4000-25S100 254-A5000-25S100 254-A8000-25S100 254-AC000-255100
I -40°C ~ 80°C (B ABEEZE) 30VAC / 2A (8 Pin) 2 254-A3000-055020 254-A4000-05S020 254-A5000-05S020 254-A8000-05S020 254-AC000-05S020
-25°C ~ 80°C (B ABE L) 30VAC / 1.5A (12 Pin) PUR 5 254-A3000-05S050 254-A4000-05S050 254-A5000-05S050 254-A8000-05S050 254-AC000-05S050
iHEHAE 0.4 Nm BT /)\ 100MQ e 10  254-A3000-05S100 254-A4000-05S100 254-A5000-05S100 254-A8000-05S100 254-AC000-055100
MR 1= R HERE TR E RS UL+CUL 3 FrEERNBREEETRRIENE 3 tubc
Si2 / REEE WeEE/ & IEC 61076-2-101: Detail specification for M12 B8 180° Al 532 180° B
BB RS / ) gy A AE PUR/PUR connectors with screw-locking ﬁ i 49 5 | ] ﬁ i 169 ]
2} B NBR IEC 69512: Electromechanica! components for s = s = \_
. N M iEdE electronic equipment; basic testing procedure and il
BAER e SR measuring methods ] £ T I
FHE ESRAR SF-UTP IEC-60529: Degree of protection provided by SW13
ey PUR (UL AWM 20549) enclosures (IP Code) . . _ .
PVC (UL AWM 2464) BEiE 90° A\l 32.2 L 32 90° Bi% 32.2 L
PRASELR , 5 UL 94 HB e IR UL 2238
FEEE 2 ) . )
SEANCHERRNSY  WARBEEEEENAEERYCIERT - IR EEBRYCHERTROBR - HNERE o - o
REEMR > IP54 WEESHHEED - EREERERE - EE PCBAKERNTE - 9145 6145




M12 4830 Fiiit A-Code

i FECE

BEER/E

B~

#5
180° /05 + 180° B3
@

uSTED

S

180° Al + 180° Al

| I I [810)

90° Al + 90° Al

llq Fll @

180° Al + 90° Al

T [Py

PVC

PUR

PvC

PUR

PvC

PUR

PvC

PUR

pr =
AL

s
BE

BEME RE (m)

0.6
1.5
3
0.6
1.5
3
0.6
1.5
3
0.6
1.5
3
0.6
1.5
3
0.6
1.5
3
0.6
1.5
3
0.6
1.5
3

A
3

250V / 4A
Nm P Bi&S

A
4

250V / 4A
AP BIES

A
5

60V / 4A
AP BI%S

v 10O v 10 O2 Y 1©é©z
O O3 ‘O O3 O O3

256-A3000-25SL.60
256-A3000-25S015
256-A3000-25S030
256-A3000-05SL60
256-A3000-05S015
256-A3000-05S030
257-A3000-25SL60
257-A3000-25S015
257-A3000-25S030
257-A3000-05SL60
257-A3000-05S015
257-A3000-05S030
260-A3000-25SL60
260-A3000-25S015
260-A3000-25S030
260-A3000-05SL60
260-A3000-05S015
260-A3000-05S030
263-A3000-25SL60
263-A3000-25S015
263-A3000-25S030
263-A3000-05SL60
263-A3000-05S015

263-A3000-05S030

HHERF A ENS UL+CUL B

180° Al + 180° B

256-A4000-25SL.60
256-A4000-25S015
256-A4000-25S030
256-A4000-05SL60
256-A4000-05S015
256-A4000-05S030
257-A4000-25SL60
257-A4000-25S015
257-A4000-25S030
257-A4000-05SL60
257-A4000-05S015
257-A4000-05S030
260-A4000-25SL60
260-A4000-25S015
260-A4000-25S030
260-A4000-05SL60
260-A4000-05S015
260-A4000-05S030
263-A4000-25SL60
263-A4000-25S015
263-A4000-25S030
263-A4000-05SL60
263-A4000-05S015

263-A4000-05S030

am 5i%
256-A5000-25SL.60
256-A5000-25S015
256-A5000-25S030
256-A5000-05SL60
256-A5000-05S015
256-A5000-05S030
257-A5000-25SL60
257-A5000-25S015
257-A5000-25S030
257-A5000-05SL60
257-A5000-05S015
257-A5000-05S030
260-A5000-25SL60
260-A5000-258015
260-A5000-25S030
260-A5000-05SL60
260-A5000-05S015
260-A5000-05S030
263-A5000-25SL60
263-A5000-25S015
263-A5000-25S030
263-A5000-05SL60
263-A5000-05S015

263-A5000-05S030

8

30V /2A
SRS

N

256-A8000-25SL.60
256-A8000-25S015
256-A8000-25S030
256-A8000-05SL60
256-A8000-05S015
256-A8000-05S030
257-A8000-25SL60
257-A8000-258015
257-A8000-25S030
257-A8000-05SL60
257-A8000-05S015
257-A8000-05S030
260-A8000-25SL60
260-A8000-258015
260-A8000-25S030
260-A8000-05SL60
260-A8000-05S015
260-A8000-05S030
263-A8000-25SL60
263-A8000-258015
263-A8000-25S030
263-A8000-05SL60
263-A8000-05S015

263-A8000-05S030

A
12

30V /1.5A
YN (SIS

©
09\‘:\ /ﬁm@a

1

2
o000
\7%©4

256-AC000-25SL60
256-AC000-25S015
256-AC000-25S030
256-AC000-05SL60
256-AC000-05S015
256-AC000-05S030
257-AC000-25SL60
257-AC000-25S015
257-AC000-25S030
257-AC000-05SL60
257-AC000-05S015
257-AC000-05S030
260-AC000-25SL60
260-AC000-25S015
260-AC000-25S030
260-AC000-05SL60
260-AC000-05S015
260-AC000-05S030
263-AC000-25SL60
263-AC000-25S015
263-AC000-25S030
263-AC000-05SL60
263-AC000-05S015

263-AC000-05S030

FEERMNESRES KRBT KRR - BUl5:

180° Al + 180° Al

180° Al + 90° Al

498 L 49.8 X, 2
,g g
) [ |
SW13

I FECE

L
E

BEER /B

F—©
Big 180° B
@

uSTED

=—0
2832 90° Al

oL)us
uSTED

=) @
BSI2 00° i

@

uSTED

BRME RE (m)

PVC

PUR

PvC

PUR

PVC

PUR

PVC

PUR

2
5
10
2
5
10
2
5
10
2
5
10
2
5
10
2
5
10
2
5
10
2
5

10
tHEEF A BT UL+CUL

M12 &4 RFikt B-Code & D-Code

B
3
250V / 4A

(SIS

LN

P e <
f{e}
‘oY0o*

251-B3000-25S020

Al P

251-B3000-25S050
251-B3000-255100
251-B3000-05S020
251-B3000-05S050
251-B3000-05S100
252-B3000-25S020
252-B3000-25S050
252-B3000-255100
252-B3000-05S020
252-B3000-05S050
252-B3000-05S100
253-B3000-25S5020
253-B3000-25S050
253-B3000-25S5100
253-B3000-05S020
253-B3000-05S050
253-B3000-05S100
254-B3000-25S020
254-B3000-25S050
254-B3000-25S100
254-B3000-05S020
254-B3000-05S050
254-B3000-05S100

2] 2%
e

B8 90° A% 32.2 L
o )
e
N.SW13
M12*1
$14.5

B
4
250V / 4A

R P SRS

g~ Pl N g Pl N
1© Oz 1@ 5 Oz
‘oo’ 40003

A SR

251-B4000-25S020
251-B4000-25S050
251-B4000-255100
251-B4000-05S020
251-B4000-05S050
251-B4000-05S100
252-B4000-25S020
252-B4000-255050
252-B4000-255100
252-B4000-05S5020
252-B4000-05S050
252-B4000-05S100
253-B4000-255020
253-B4000-255050
253-B4000-255100
253-B4000-05S020
253-B4000-05S050
253-B4000-05S100
254-B4000-255020
254-B4000-255050
254-B4000-25S100
254-B4000-05S020
254-B4000-05S050
254-B4000-055100

B
5
60V / 4A

i P B S

251-B5000-25S020
251-B5000-25S050
251-B5000-255100
251-B5000-05S020
251-B5000-05S050
251-B5000-05S100
252-B5000-25S020
252-B5000-25S050
252-B5000-255100
252-B5000-05S020
252-B5000-05S050
252-B5000-05S100
253-B5000-25S5020
253-B5000-25S050
253-B5000-255100
253-B5000-05S020
253-B5000-05S050
253-B5000-05S100
254-B5000-25S020
254-B5000-25S050
254-B5000-25S100
254-B5000-05S020
254-B5000-05S050
254-B5000-05S100

D
4
250V / 4A

8% S
e . 10/\O;
\ ‘«0\/of

251-D4000-25S020

i P

251-D4000-25S050
251-D4000-255100
251-D4000-05S020
251-D4000-05S050
251-D4000-05S100
252-D4000-25S020
252-D4000-255050
252-D4000-255100
252-D4000-05S5020
252-D4000-05S050
252-D4000-05S100
253-D4000-255020
253-D4000-255050
253-D4000-255100
253-D4000-05S020
253-D4000-05S050
253-D4000-05S100
254-D4000-255020
254-D4000-25S5050
254-D4000-25S100
254-D4000-05S020
254-D4000-05S050
254-D4000-05S100

FEERNESRESIRBEHNERITH - 85

E5i2 180° Bin

532 90° B

>
N
=

46.2

28.2




M12 %42 Bk B-Code & D-Code M12 H42 X ER# A-Code

RS B B B D RS A A A A A
WP ERE — %7 ERE —
B 3 4 5 4 v 3 4 5 8 12
SETEER /BN 250V / 4A 250V / 4A 60V / 4A 250V / 4A BEER/ER 250V / 4A 250V / 4A 60V / 4A 30V /2A 30V /1.5A
ANLE P =S AP BiES AP =S ANE P =S NEP BIES R P  BiES AP 8iES AP 8BS AmP  BIES
RN R N o e ONO> .. 162 4 010> SN © 0 © 0 o 7 10402 8% ‘//21}\\‘ @a
2 G & &) Ee
& BEME RE (m) = BEmE RE (m) i
180° /Aliis + 180° Bk 0.6 256-B3000-25SL60 256-B4000-25SL60 256-B5000-25SL60 256-D4000-25SL60 B8 180° Al 2 201-A3000-20S020 201-A4000-20S020 201-A5000-20S020 201-A8000-20S020 201-AC000-20S020
@“‘ PVC 15 256-B3000-25S015 256-B4000-25S015 256-B5000-25S015 256-D4000-25S015 @“‘ PVC 5 201-A3000-20S050 201-A4000-20S050 201-A5000-20S050 201-A8000-20S050 201-AC000-20S050
3 256-B3000-25S030 256-B4000-25S030 256-B5000-25S030 256-D4000-25S030 10 201-A3000-20S100 201-A4000-20S100 201-A5000-20S100 201-A8000-20S100 201-AC000-20S100
0.6 256-B3000-05SL60 256-B4000-05SL60 256-B5000-05SL60 256-D4000-05SL60 2 201-A3000-00S020 201-A4000-00S020 201-A5000-00S020 201-A8000-00S020 201-AC000-00S020
PUR 1.5 256-B3000-05S015 256-B4000-05S015 256-B5000-05S015 256-D4000-05S015 PUR 5 201-A3000-00S050 201-A4000-00S050 201-A5000-00S050 201-A8000-00S050 201-AC000-00S050
=N 3 256-B3000-05S030 256-B4000-05S030 256-B5000-05S030 256-D4000-05S030 dF— 10 201-A3000-00S100 201-A4000-00S100 201-A5000-00S100 201-A8000-00S100 201-AC000-00S100
180° Al + 180° A 0.6 257-B3000-25SL60 257-B4000-25SL60 257-B5000-25SL60 257-D4000-25SL60 E32 180° iR 2 202-A3000-20S020 202-A4000-20S020 202-A5000-20S020 202-A8000-20S020 202-AC000-20S020
PVC 15 257-B3000-25S015 257-B4000-25S015 257-B5000-25S015 257-D4000-255015 N PVC 5 202-A3000-20S050 202-A4000-20S050 202-A5000-20S050 202-A8000-20S050 202-AC000-20S050
3 257-B3000-25S030 257-B4000-25S030 257-B5000-25S030 257-D4000-25S030 10 202-A3000-20S100 202-A4000-20S100 202-A5000-20S100 202-A8000-20S100 202-AC000-20S100
0.6 257-B3000-05SL60 257-B4000-05SL60 257-B5000-05SL60 257-D4000-05SL60 2 202-A3000-00S020 202-A4000-00S020 202-A5000-00S020 202-A8000-00S020 202-AC000-00S020
PUR 15 257-B3000-05S015 257-B4000-05S015 257-B5000-05S015 257-D4000-05S015 PUR 5 202-A3000-00S050 202-A4000-00S050 202-A5000-00S050 202-A8000-00S050 202-AC000-00S050
r—h© 3 257-B3000-05S030 257-B4000-05S030 257-B5000-05S030 257-D4000-05S030 s — 10 202-A3000-00S100 202-A4000-00S100 202-A5000-00S100 202-A8000-00S100 202-AC000-00S100
90° Al +90° Al 0.6 260-B3000-25SL60 260-B4000-25SL60 260-B5000-25SL60 260-D4000-25SL60 BS3E 90° NI 2 203-A3000-20S020 203-A4000-20S020 203-A5000-20S020 203-A8000-20S020 203-AC000-20S020
PVC 15 260-B3000-25S015 260-B4000-25S015 260-B5000-25S015 260-D4000-25S015 s PVC 5 203-A3000-20S050 203-A4000-20S050 203-A5000-20S050 203-A8000-20S050 203-AC000-20S050
3 260-B3000-25S030 260-B4000-25S030 260-B5000-25S030 260-D4000-25S030 10 203-A3000-20S100 203-A4000-20S100 203-A5000-20S100 203-A8000-20S100 203-AC000-20S100
0.6 260-B3000-05SL60 260-B4000-05SL60 260-B5000-05SL60 260-D4000-05SL60 2 203-A3000-00S020 203-A4000-00S020 203-A5000-00S020 203-A8000-00S020 203-AC000-00S020
PUR 1.5 260-B3000-05S015 260-B4000-05S015 260-B5000-05S015 260-D4000-05S015 PUR 5 203-A3000-00S050 203-A4000-00S050 203-A5000-00S050 203-A8000-00S050 203-AC000-00S050
@ 3 260-B3000-05S030 260-B4000-05S030 260-B5000-05S030 260-D4000-055030 Eﬂﬂ 10 203-A3000-00S100 203-A4000-00S100 203-A5000-00S100 203-A8000-00S100 203-AC000-00S100
180° Al +90° Al 0.6 263-B3000-25SL60 263-B4000-25SL60 263-B5000-25SL60 263-D4000-25SL60 B512 90° Bin 2 204-A3000-20S020 204-A4000-20S020 204-A5000-20S020 204-A8000-20S020 204-AC000-20S020
PVC 1.5 263-B3000-25S015 263-B4000-255015 263-B5000-25S015 263-D4000-25S015 e PVC 5 204-A3000-20S050 204-A4000-20S050 204-A5000-20S050 204-A8000-20S050 204-AC000-20S050
3 263-B3000-255030 263-B4000-255030 263-B5000-255030 263-D4000-255030 10 204-A3000-20S100 204-A4000-20S100 204-A5000-20S100 204-A8000-20S100 204-AC000-20S100
0.6 263-B3000-05SL60 263-B4000-05SL60 263-B5000-05SL60 263-D4000-05SL60 2 204-A3000-00S020 204-A4000-00S020 204-A5000-00S020 204-A8000-00S020 204-AC000-00S020
PUR 15 263-B3000-05S015 263-B4000-05S015 263-B5000-05S015 263-D4000-055015 PUR 5 204-A3000-00S050 204-A4000-00S050 204-A5000-00S050 204-A8000-00S050 204-AC000-00S050
= FI' 3 263-B3000-05S030 263-B4000-05S030 263-B5000-05S030 263-D4000-05S030 @ 10 204-A3000-00S100 204-A4000-00S100 204-A5000-00S100 204-A8000-00S100 204-AC000-00S100
2RSS UL+CUL 25 FIEEMNEBREEETRBRNEKRTE - BuEH {HE2F RS UL+CUL 5258 FIAEMNEBRRESIRBANTEKEIS - 858
180° Al + 180° B 180° Al + 180° Al 2532 180° Al E532 180° B
— Ol
4 L 462 &S J & L 462 L
B e S e
1 gl @ [ mil= =2 L ) s
\M W13 SW13
90° A% + 90° Al 180° Al + 90° Al BIE 90° Al 32.2 L B8 90° BiF 32.2 L
§ = |
N
SW13
[l M12#41
$14.5




M12 42 EBREH A-Code M12 F 40 Rk B-Code & D-Code

— fﬁrﬁ A A A A A o ifﬁﬁ% B B B D
2 3 4 5 8 12 v 3 4 5 4
SETEER /BN 250V / 4A 250V / 4A 60V / 4A 30V /2A 30V /1.5A BHEER/ER 250V / 4A 250V / 4A 60V / 4A 250V / 4A
QWP 8BS AP BES  AKBP  BHES  AKP 8BS AP 8IS N B S AP Bi%s NP Bi%S NI Bi% s
- 5 ; : op RN BN AR e | N e AR e
' &9
i BEME RE (m) iR wE BEME RE (m) @k
180° Al + 180° B 0.6 206-A3000-20SL60 206-A4000-20SL60 206-A5000-20SL60 206-A8000-20SL60 206-AC000-20SL60 B8 180° Nl 2 201-B3000-20S020 201-B4000-20S020 201-B5000-20S020 201-D4000-20S020
@ PVC 1.5 206-A3000-20S015 206-A4000-20S015 206-A5000-20S015 206-A8000-20S015 206-AC000-20S015 - PVC 5 201-B3000-20S050 201-B4000-20S050 201-B5000-20S050 201-D4000-20S050
3 206-A3000-20S030 206-A4000-20S030 206-A5000-20S030 206-A8000-20S030 206-AC000-20S030 10 201-B3000-20S100 201-B4000-20S100 201-B5000-20S100 201-D4000-20S100
0.6  206-A3000-00SL60 206-A4000-00SL60 206-A5000-00SL60 206-A8000-00SL60 206-AC000-00SL60 2 201-B3000-00S020 201-B4000-00S020 201-B5000-00S020 201-D4000-00S020
PUR 15  206-A3000-00S015 206-A4000-00S015 206-A5000-00S015 206-A8000-00S015 206-AC000-00S015 PUR 5 201-B3000-00S050 201-B4000-00S050 201-B5000-00S050 201-D4000-00S050
P {1} 3 206-A3000-00S030 206-A4000-00S030 206-A5000-00S030 206-A8000-00S030 206-AC000-00S030 r— 10 201-B3000-00S100 201-B4000-00S100 201-B5000-00S100 201-D4000-00S100
90° ‘Al + 90° B 0.6 209-A3000-20SL60 209-A4000-20SL60 209-A5000-20SL60 209-A8000-20SL60 209-AC000-20SL60 8532 180° B 2 202-B3000-20S020 202-B4000-20S020 202-B5000-20S020 202-D4000-20S020
"gt).."‘ PVC 15 209-A3000-20S015 209-A4000-20S015 209-A5000-20S015 209-A8000-20S015 209-AC000-20S015 h PVC 5 202-B3000-20S050 202-B4000-20S050 202-B5000-20S050 202-D4000-20S050
3 209-A3000-20S030 209-A4000-20S030 209-A5000-20S030 209-A8000-20S030 209-AC000-20S030 10 202-B3000-20S100 202-B4000-20S100 202-B5000-20S100 202-D4000-20S100
0.6  209-A3000-00SL60 209-A4000-00SL60 209-A5000-00SL60 209-A8000-00SL60 209-AC000-00SL60 2 202-B3000-00S020 202-B4000-00S020 202-B5000-00S020 202-D4000-00S020
PUR 1.5 209-A3000-00S015 209-A4000-00S015 209-A5000-00S015 209-A8000-00S015 209-AC000-00S015 PUR 5 202-B3000-00S050 202-B4000-00S050 202-B5000-00S050 202-D4000-00S050
3 209-A3000-00S030 209-A4000-00S030 209-A5000-00S030 209-A8000-00S030 209-AC000-00S030 s 10 202-B3000-00S100 202-B4000-00S100 202-B5000-00S100 202-D4000-00S100
180° Al + 90° B 0.6 212-A3000-20SL60 212-A4000-20SL60 212-A5000-20SL60 212-A8000-20SL60 212-AC000-20SL60 8538 90° N\ 2 203-B3000-20S020 203-B4000-20S020 203-B5000-20S020 203-D4000-20S020
®- PVC 15 212-A3000-20S015 212-A4000-20S015 212-A5000-20S015 212-A8000-20S015 212-AC000-20S015 - PVC 5 203-B3000-20S050 203-B4000-20S050 203-B5000-20S050 203-D4000-20S050
3 212-A3000-20S030 212-A4000-20S030 212-A5000-20S030 212-A8000-20S030 212-AC000-20S030 10 203-B3000-20S100 203-B4000-20S100 203-B5000-20S100 203-D4000-20S100
0.6 212-A3000-00SL60 212-A4000-00SL60 212-A5000-00SL60 212-A8000-00SL60 212-AC000-00SL60 2 203-B3000-00S020 203-B4000-00S020 203-B5000-00S020 203-D4000-00S020
PUR 1.5 212-A3000-00S015 212-A4000-00S015 212-A5000-00S015 212-A8000-00S015 212-AC000-00S015 PUR 5 203-B3000-00S050 203-B4000-00S050 203-B5000-00S050 203-D4000-00S050
et [=0 3 212-A3000-00S030 212-A4000-00S030 212-A5000-00S030 212-A8000-00S030 212-AC000-00S030 Eﬂ@ 10 203-B3000-00S100 203-B4000-00S100 203-B5000-00S100 203-D4000-00S100
00° A% +180° S 0.6  214-A3000-20SL60 214-A4000-20SL60 214-A5000-20SL60 214-A8000-20SL60 214-AC000-20SL60 232 90° B 2 204-B3000-20S020 204-B4000-20S020 204-B5000-20S020 204-D4000-20S020
®- PVC 15  214-A3000-20S015 214-A4000-20S015 214-A5000-20S015 214-A8000-20S015 214-AC000-20S015 PVC 5 204-B3000-20S050 204-B4000-20S050 204-B5000-20S050 204-D4000-20S050
3 214-A3000-20S030 214-A4000-20S030 214-A5000-20S030 214-A8000-20S030 214-AC000-20S030 10 204-B3000-20S100 204-B4000-20S100 204-B5000-20S100 204-D4000-20S100
0.6 214-A3000-00SL60 214-A4000-00SL60 214-A5000-00SL60 214-A8000-00SL60 214-AC000-00SL60 2 204-B3000-00S020 204-B4000-00S020 204-B5000-00S020 204-D4000-00S020
PUR 1.5 214-A3000-00S015 214-A4000-00S015 214-A5000-00S015 214-A8000-00S015 214-AC000-00S015 PUR 5 204-B3000-00S050 204-B4000-00S050 204-B5000-00S050 204-D4000-00S050
U] = 3 214-A3000-00S030 214-A4000-00S030 214-A5000-00S030 214-A8000-00S030 214-AC000-00S030 0] 10 204-B3000-00S100 204-B4000-00S100 204-B5000-00S100 204-D4000-00S100
¥HEE S A2 ES UL+CUL 325 FFEERNESEESIRBENERTS  BaH 1888 5 B ES UL+CUL 3335 FFEERNESEESIRBENERTS s
180° A% + 180° B 90° Al + 90° B E5ig 180° Al 2532 180° 13

90° Al + 180° Bl E538 90° AR 5538 90° Bin




M12 %48 1, # Rl B-Code & D-Code M12 F4E8 ERH Y B! =3F1E8 A-Code

B EE MR B B B D BRI Y S SO MBS BECEEHSRNTEEET  BHBAWEEY - It

T 3 4 : 4 ERIRFBEIE A-Code 33 - TJARAMBEMRKR - ITHRHE - AEBI T BEEMBELE

BEEE / Bh 250V / 4A 250V / 4A 60V / 4A 250V / 4A MAIE R IER - B8 3 BENRY  AEEEREMRKTCINS BN BEEE =208
Al P (S37R] R P (5377 Nl P B S Nl 8% S

AR S mERNERYBENREANLERE  HAERISRIETHREE O EEZVER

T TN P TN T TN T — = . el
S 10 10/10, 1©é©z 10/10; BESRZE -
‘oo’ ‘oo’ ‘oo’ \ “«0\/of
8 BEME RE (M) 5% BPEE i 55
180° A% + 180° i 0.6 206-B3000-20SL60 206-B4000-20SL60 206-B5000-20SL60 206-D4000-20SL60 BE 5
@- PVC 15 206-B3000-20S015 206-B4000-20S015 206-B5000-20S015 206-D4000-20S015 BEER/ER 60V /4A
3 206-B3000-20S030 206-B4000-20S030 206-B5000-20S030 206-D4000-20S030 Rif P Bi% S
4 —_3 3 4
0.6 206-B3000-00SL60 206-B4000-00SL60 206-B5000-00SL60 206-D4000-00SL60 Eh /ogo\\ 6 5 3\\
\ ) L <O
PUR 15 206-B3000-00S015 206-B4000-00S015 206-B5000-00S015 206-D4000-00S015 \® o/ O @/
1T~ 72 2 —~1
7 —{ =]} 3 206-B3000-00S030 206-B4000-00S030 206-B5000-00S030 206-D4000-00S030 s et R (=R EEA 15cm)
90° Al +00° Bk 0.6 209-B3000-20SL60 209-B4000-20SL60 209-B5000-20SL60 209-D4000-20SL60 1% 180° A1 + 2 x 180° B
- PVC 15 209-B3000-20S015 209-B4000-20S015 209-B5000-20S015 209-D4000-20S015
PUR 222-A5530-00SL15
3 209-B3000-20S030 209-B4000-20S030 209-B5000-20S030 209-D4000-20S030
0.6 209-B3000-00SL60 209-B4000-00SL60 209-B5000-00SL60 209-D4000-00SL60
PUR 15 209-B3000-00S015 209-B4000-00S015 209-B5000-00S015 209-D4000-00S015
3 209-B3000-00S030 209-B4000-00S030 209-B5000-00S030 209-D4000-00S030
PVC 222-A5530-20SL15
180° Al +90° &% 0.6 212-B3000-20SL60 212-B4000-20SL60 212-B5000-20SL60 212-D4000-20SL60 . ]
- PVC 15 212-B3000-20S015 212-B4000-20S015 212-B5000-20S015 212-D4000-20S015
3 212-B3000-20S030 212-B4000-20S030 212-B5000-20S030 212-D4000-20S030 FEERNEBSRESTRRBEHNERTH .
0.6 212-B3000-00SL60 212-B4000-00SL60 212-B5000-00SL60 212-D4000-00SL60
1 X 180° Al + 2 X 180° B
PUR 15 212-B3000-00S015 212-B4000-00S015 212-B5000-00S015 212-D4000-00S015
ey [l @ 212-B3000-00S030 212-B4000-00S030 212-B5000-00S030 212-D4000-00S030 46.00 L 2 Conn.1 Conn.3 Conn.2
90° Al + 180° B 0.6 214-B3000-20SL60 214-B4000-20SL60 214-B5000-20SL60 214-D4000-20SL60 = 1 ) Brown —— Brown C 1
D PVC 15 214-B3000-20S015 214-B4000-20S015 214-B5000-20S015 214-D4000-20S015 e ol ) White —— White s
_J/ L1 \_
3 214-B3000-20S030 214-B4000-20S030 214-B5000-20S030 214-D4000-20S030
3/ Blue —— Blue s
0.6 214-B3000-00SL60 214-B4000-00SL60 214-B5000-00SL60 214-D4000-00SL60 J (.
Black — Black
PUR 15 214-B3000-00S015 214-B4000-00S015 214-B5000-00S015 214-D4000-00S015 4 ) C 4
dn] =l 3 214-B3000-00S030 214-B4000-00S030 214-B5000-00S030 214-D4000-00S030 0 5 ) Grey [ Grey ( 5
<t
THIEF B E RS UL+CUL 358 FIEERMNERRESIMBMAWERIIE - #5H =

180° Al + 180°

B

L

90° /Al + 90° B L
i
90° Al + 180° Bif 32.2 L
1
. T
=
‘ SW13
M124]|_
8145




M12 waR VB E

T =45

St T 238N P RYIRIS 8% (CC-Link, DeviceNet / CANopen, PROFIBUS DP) A48 25T
(PROFINET, Ethernet CATS) iR ERHE 7 M12 G188 F GRS BANL  BEZEEZSRNEIANE
BRE AEoumElXBEEARTAEHIERNERRBNUNIREKR  EMEEERIZE
RIBDWRAZEE  BPNSREIEERGER /T Fad3E L EZBNBEMBERENRE
WAEEYR - oliEf IP68 PSR REME RIRIENTE - W1 EMI - {EEBYE - HE - IR

BETE -

THBRABE B8 SR #EF YRERE  MSEE
PRCC;):-:-’;ET D 4 AEITEMNLE  BREAEG 100 Mbps

#9455  Ethernet CAT5 D 4 FIE TR &=% 100 Mbps
Ethernet CAT5e A 8 FiEI1#RE =% 1 Gbps
CC-Link A 4 EERER =2 10 Mbps
DeviceNet:

) &= % 500kbps
BEAR Dot A 5 EBCERMRERRERE
pen .

Canopen:

10 kbps Z 1 Mbps

5 SEEGIREEENH /O

PROFIBUSDP B el 257 12 Mbps

FET 4.0 WiBZ:  BOREMNBEEBREPIFZENAERRESEEHRETK -

i - B 35 B VN
i&F HREe RRME
1 =YE TD+
2 BWH RD+
3 1%0G TD-

4 [su__ | RO
I F BREG &M
1 | B#wHoe TD+
2 | B#WHGN RD+
3 | 1t%oG TD-

4

#oN RD-

&F BEHe &R
1 | BEwHBY | D3-
2 | B¥RWHBN D4+
3 | BN D4-
4 | tloe D1-
5 D2+
6 | BfiwHos D1+
7 | Esu D3+
8 | #keN D2-

I F LR R
1 | Fi&Shield SLD
2 HWH DS
3 | #&YE DG
4 [#su_ [ oA

B F FUEY ) RRME
1 | B#Shield Drain
2 #IRD V+
3 £BK V-

4 HWH CAN_H
5 |EBU CAN_L
ield on housing

I&F BiREAE e

1

2 | #GN Acable

3 |-

4 | £IRD Bcable

5 | BMEFTYFIlexible filler
R B AEShield on housing

M12 H4R I Rk - HAi8iEE A (PROFINET, EtherCAT, Ethernet)

T MR E

BEFEER

=gt

SMEFE
SMRERE
IMRER
BIFREEE
R =
BRME
BRGE AWG

BRES

SERE

UL AWM FZ=

BELR R &

PROFINET

PROFINET (100 Mbps)
D
4
PVC
6.5+0.2mm

-40 °C ~+80 °C

AL-Foll, tin-plated copper
braided shield

Stranded tinned copper
22 AWG
B &5 &, 1%
1.5£0.1mm
59.4 Q /km (@20 °C)
IEC 61156-6
ISO/IEC 11801
UL 758
21694

IEC 60332-1, FT2

Ethernet

Ethernet

Ethernet

Ethernet

Ethernet CAT5 (100 Mbps)

D
4
PUR
KEEE
6.0 £ 0.25 mm

-40°C~+80°C

AL-mylar, tinned copper
braided shield

Stranded bare copper
26 AWG
B/% %, 8/4%, &
0.9+ 0.05 mm
<148 Q/km
ISO /IEC 11801
UL 1581
UL 758
20963

IEC 60332-1, FT2

Ethernet CAT5e (1 Gbps)
A
8
PUR
KEEER
6.0 £ 0.25 mm

-40°C~+80°C

AL-mylar, tinned copper
braided shield

Stranded bare copper

26 AWG

B/%,E,.8/%, %, 8/#%, %,
B/1R, %

0.92 £ 0.05 mm
<148 Q/km
ISO /IEC 11801
UL 1581
UL 758
20963

IEC 60332-1, FT2




M12 4R Bk - A& EMER (PROFINET, EtherCAT, Ethernet)

. b D D A
tnFECE .
BB 4 4 8
HEER/ER 250V / 4A 30V / 4A 60V / 2A

Al P 8ixS QAP (5377 AwP  BIRS

o 1 T o 1 T 1
Sl 10NO; 10NO; @Oé%
R oof  \ {oyof 80,50
4

EaREm
A PROFINET CAT5 Ethernet CAT5 Ethernet CAT5e
ﬁ =
LERIBR i RE (100Mbps) (100Mbps) (1Gbps)
e BREME RE (m) sk
32 180° A 2 - 251-D4000-0ES020  251-A8000-0ES020
PROFINET CAT5 Ethernet CATS PUR 5 - 251-D4000-0ES050 ~ 251-A8000-0ES050
Ethernet CAT5e
10 - 251-D4000-0ES100  251-A8000-0ES100
2 251-D4000-2PS020 - -
PVC 5 251-D4000-2PS050 - -
dF —© F —© 10 251-D4000-2PS100 - -
B2 180° 1% 2 - 252-D4000-0ES020  252-A8000-0ES020
PROFINET CAT5 Ethernst CATS PUR 5 - 252-D4000-0ES050 ~ 252-A8000-0ES050
Ethernet CAT5e
10 - 252-D4000-0ES100  252-A8000-0ES100
2 252-D4000-2PS020 - -
PVC 5 252-D4000-2PS050 - -
- —0 - —0 10 252-D4000-2PS100 - -
BIE 00° /A1 2 - 253-D4000-0ES020  253-A8000-0ES020
PROFINET CAT5 Ethernst CAT5 PUR 5 . 253-D4000-0ES050 ~ 253-A8000-0ES050
Ethernet CAT5e
10 . 253-D4000-0ES100  253-A8000-0ES100
2 253-D4000-2PS020 - -
PVC 5 253-D4000-2PS050 - -
EUQ © EUQ © 10 253-D4000-2PS100 - -
238 90° B 2 - 254-D4000-0ES020  254-A8000-0ES020
PROFINET CAT5 Ethernet CATS PUR 5 . 254-D4000-0ES050 ~ 254-A8000-0ES050
Ethernet CAT5e
10 - 254-D4000-0ES100  254-A8000-0ES100

2 254-D4000-2PS020 - -
PVC 5

ﬂi_Lr\ © ﬂi_lr| ® 10 254-D4000-2PS100 . .

FEERNBHRREETRBENE RIS - B5:H

254-D4000-2PS050 - -

M12 43 Bk - A& ENE B (PROFINET, EtherCAT, Ethernet)

RIS D D
InFEE -
/|_‘,\§$( 4 4
HEER/ER 250V / 4A 30V /4A
Nim P Bim S NS Him S
T~ e o 1010,
\ ‘o of
%Ell‘%éﬁﬁ
S PROFINET CAT5 Ethernet CAT5
ﬁ =
LB E (100Mbps) (100Mbps)
i BREME RE (m) an 5k
180° /Al + 180° 1% 0.6 - 256-D4000-0ESL60
Ethernet CATS
PROFINET CAT5 Ethemet GATSe PUR 15 - 256-D4000-0ES015
3 - 256-D4000-0ES030
0.6 256-D4000-2PSL60 s
PVC 1.5 256-D4000-2PS015 8
5| S| 1) | | 1O) 3 256-D4000-2PS030 -
180°/Al% + 180° Al 0.6 - 257-D4000-0ESL60
Ethernet CATS
PROFINET CAT5 Ethemet CATSe PUR 15 - 257-D4000-0ES015
3 - 257-D4000-0ES030
0.6 257-D4000-2PSL60 8
PVC 15 257-D4000-2PS015 S
I —=1e T —he 3 257-D4000-2PS030 -
180° Al + RJ45 0.6 - 299-D4EML60
Ethernet CATS
PROFINET CAT5 Ethemet CATSe PUR 15 - 299-D4EM015
3 - 299-D4EM030
0.6 299-D4PML60 8
PVC 15 299-D4PM015 8
[ —=y T —E 3 299-D4PM030 -
180° &% + RJ45 0.6 - 299-D4EFL60
Ethernet CATS
PROFINET CAT5 Ethemet CATSe PUR 15 - 299-D4EF015
3 - 299-D4EF030
0.6 299-D4PFL60 8
PVC 15 299-D4PF015 8
s —a S —C=E 3 299-D4PF030 -

FEERNEBEREEIRRE

Ethernet CAT5e
(1Gbps)

256-A8000-0ESL60

256-A8000-0ES015

256-A8000-0ES030

257-A8000-0ESL60

257-A8000-0ES015

257-A8000-0ES030

299-A8EMLG0

299-A8EM015

299-A8EMO030

299-A8EFL60

299-A8EF015

299-A8EF030




M12 4R Bl - IRIZ448E A (CC-Link, CANopen, PROFIBUS) M12 4= Rilk - IRIZ 448 A (CC-Link, CANopen, PROFIBUS)

PROFIBUS DeviceNet / CANopen CC-Link . RS A
s FEC B .
/c,\§$( 4 5 5
HEER /SR 250V / 4A 60V / 4A 60V / 4A
Nl P 8% S N A B S Nl P Bin S
. S
W | 4 3
T£MAEHE 0 o3 \w:-// 00 oo
BEEE
® Devicei'et
BJU[s CANopen CCiLink DeviceNet
3 AT 17 " eviceNe
TEBENHE CC-Link CANopen PROFIBUS
frg BEmME RE (m) an sk
B2 180° Al iEiE 2 - 251-A5000-0DS020  251-B5000-0BS020
RRRE CC-Link DeviceNet / CANopen PUR 5 ; 251-A5000-0DS050 ~ 251-B5000-0BS050
- PROFIBUS
10 - 251-A5000-0DS100  251-B5000-0BS100
2 251-A4000-2CS020 - -
EaF YRR PROFIBUS DP (12 Mbps) DeviceNet™, CANopen® CC-Link (10 Mbps)
PVC 5 251-A4000-2CS050 - -
o=y i B A A
T — fFr— ® 10 251-A4000-2CS100 - -
B 5 5 4 2838 180° R IHiE e 2 - 252-A5000-0DS020  252-B5000-0BS020
SNEIE PUR PUR PVC CC-Link De"icpege‘ / CANopen PUR 5 ; 252-A5000-0DS050 ~ 252-B5000-0BS050
OFIBUS
SNREEE 8E 3c:) AR 10 - 252-A5000-0DS100  252-B5000-0BS100
SN B AR 7.8 0.2 mm 6.6 £ 0.25 mm 7.0£0.2 mm 2 292:A4000-2C5020 - -
N PVC 5 252-A4000-2CS050 - -
BERESE -40 °C ~ +80 °C -40 °C ~ +80 °C -40 °C ~ +80 °C
RS AL-mylar, tinned copper AL-mylar, tinned copper AL-Foil, tin-plated copper =—0 =0 10 202 AR 00D2CRI00 - -
braided shield braided shield braided shield B8 00 AT IS 2 . 253-A5000-0DS020  253-B5000-0BS020
BEME Stranded tinned copper Stranded tinned copper Stranded bare copper ;
” PP PP PP CC-Link Dev'csggtglgﬁg“)pe” PUR 5 ; 253-A5000-0DS050 ~ 253-B5000-0BS050
B HE AWG 22AWG 2 x 22AWG + 2 x 24AWG 1 x 22AWG + 3 x 20AWG 10 ) 253 AB000.0DS100 | 253.B5000.085100
. 24AWG: (3, B o
B 40 E Fo A 1= BE = L N . .
BEREE 4%, 41 22AWG: 4T | B, E = 2 253-A4000-2CS020
. _ 24AWG: 1.9 + 0.05 mm
5 423 47 4. y PVC 5 253-A4000-2CS050 - -
ERBEgEEK 2.7 +0.1 mm 59AWG: 14 £ 0.05 mm 2.2+0.1 mm
I 24AWG: < 91.8 Q / km d=]© A= ]© 10 253-A4000-2CS100 ; ;
=] = =
BRERBERET 59.4 Q/km 22AWG: < 57.4 O / km 37.8 Q/km
B8 90° B IR IE R 2 - 254-A5000-0DS020  254-B5000-0BS020
IEC 61158-2 UL 1581 IEC 61158-2 .
CC-Link De"'csggtégﬁgbpen PUR 5 ; 254-A5000-0DS050 ~ 254-B5000-0BS050
SETHE UL 758 UL 758 -
10 - 254-A5000-0DS100  254-B5000-0BS100
i i i 2 254-A4000-2CS020 - -
ULAWM F =t 20233 21329 2464 PvC 5 054 A4000.2CS050 ) )
BEL WA 35t VW-1 IEC 60332-1, FT2 IEC 60332-1 ﬂ@ © ﬂ@ © 10 254-A4000-2CS100 . .

EERNESRESIRRBENTERTR - BUlEH



M12 F4RT\ ik - 335 424R%E A (CC-Link, CANopen, PROFIBUS)

w R A
s FECE e
It,\;ﬁ 4 5
BEER /B 250V / 4A 60V / 4A
NI % S N P % S
N~ v 002
O O3
fBREE
s a . DeviceNet
iEE BEME RE (m) a5k
180° /A + 180°H ik 0.6 - 256-A5000-0DSL60
. DeviceNet / CANopen
CC-Link PROFIBUS PUR 1.5 - 256-A5000-0DS015
3 - 256-A5000-0DS030

0.6 256-A4000-2CSL60 =

PVC 1.5 256-A4000-2CS015 -

256-A4000-2CS030 -

T —D© HF —=1 @ 8

X Pl N

? 105 O2 1050,
o] 4, 03

0O O3 (®X{e)

i M12 445 E i E

60V / 4A
AwP BiES

£8 IR Bl 2

PROFIBUS

256-B5000-0BSL60

256-B5000-0BS015
T HwISRIZFAN 63V HERER -
SRR XBRENER -

256-B5000-0BS030

FAERMNESRESIRRBANERIH - 855

BT¥$t% PROFINET, CAT5 71 CAT5e & T #£49p8 FEFAAI M12 381588 - #H 7 ZAAHE ( Power over Ethernet -
FEREIRIE - BB RTRE

FRRTIER - BBRE LB (Solid wire) FRESRRMILNREERVEIYE - DJFER AEE%FEE%’MW?E’J
SMNNEEIR - ENEYRIEE AN -

YRS D D
I%FicE
B 4 4
HESE/ER 250V / 4A 60V / 2A
seEm
¢ 355 27 17 e PROFINET CAT5  Ethernet CAT5
THRBREE (100Mbps) (100Mbps)
e BEME RE (m) o Sk
PROFINET CAT5 ;Lheer:]”;tg:‘;si 180°/A1 + 180°B1i
PUR 25 N 256-D4000-0EP250
PVC 25  256-D4000-2PP250 .
AF s O —{ s [h®
PROFINET CAT5 ;Lheer;”e‘itg:%i 180°/A % + 180°/A %
PUR 25 . 257-D4000-0EP250
PVC 25  257-D4000-2PP250 -
5| e 8]0 5| G G 81O

PoE )

A et dstE
4 B/NEINRE 100
R P68
60V / 2A
o -40°C ~ 80°C (MBS BEELE)
BIERE 5
-25°C ~ 80°C ( B ABREHLEE)
EHEHE 0.4 Nm
o p =i
B2 e /= e/ 2
Ethernet CAT5e %H / RESERE nEs/
(1Gbps) EREHRL / BIaY A RS PUR/PP
B2 NBR
BAERD HETREE
4 S-Code: PUR (UL AWM 20234)
256-A8000-0EP250 it T-Code: PUR (UL AWM 20936)
PRIAZE 4R , 755 UL 94 VO

fREEZEAR > IP54 HEHEERETL - EFERAERA

257-A8000-0EP250

FEERNEBRREETRRBENTKRITH - BI5H

B ¥R # 7 &5 IEC 61076-2-111 38 &
IP67 FIBLEZS AR EC PUR M BRBRAEB IR IIEIE -
?mhﬁ%ﬂ%‘“ 400 EXRNERTRE - FALILOIER THEERIE

SHRBEEANERS 630V R MEE
BRI PE SR - ol EARX MBS =HENRR
EEFEB 4 EETERN  AFREREBE -

BENK

37
3Z

SENSHEBMTHRIEBEMI2 B EREE - BE
AFIEMRFECEYE - Jtt%.%%“
RERAIAR N LR AR IEAREE -

CAERESE VEA 2 BN 3 [EIEE AR 1 [EEA
- EBEHKMT SRR  SORRERRMEIRRE
fegp=s - IR

ROHS c @ us “0’0’4
IP 68
LISTED

Salt
EREMH

S-Code: 630VAC / 16A (3 Pin)
S-Code: 630VAC / 12A (4 Pin)
T-Code: 63VAC / 12A (4 Pin)
/)N 100MQ
BEEREER Il
1REE BT &8
IEC 61076-2-111: Circular connectors - Detail

specification for power connectors with M12 screw-
locking

IEC 60512: Electromechanical components for
electronic equipment; basic testing procedure and
measuring methods

RETRE

IEC-60529: Degree of protection provided by
enclosures (IP Code)

Ao RE IR AE uL 2237

EIEER

BEIRENBRNEMSE - W RARBEESEBGTHEC EREELZRY - IREER
- %5 PCB A EMMT & -

BRAHENBHOTRHBR - AIMAER




M12 F4R 0 ERE K S-Code & T-Code

USTED

USTED

USTED

tnFECE

BEER /B

i
2832 180° Al

o

[

180° B

EE3% 90° A

Ell

& 90° B

188
i

AR
E

BEME RE (m)

B 7~

PUR
qre—

PUR
=

PUR

PUR

2

10

10

10

10

s
3(2+PE)
630V / 16A
Al P B S

0
&) 0%

201-S3303-02S020
201-S3303-02S050
201-S3303-02S100
202-S3303-02S020
202-S3303-02S050
202-S3303-02S100
203-S3303-02S020
203-S3303-02S050
203-S3303-025100
204-S3303-02S020
204-S3303-02S050

204-S3303-02S5100

HHEEFREMSE UL+CUL 5258

S
4(3+PE)
630V / 12A
N (53]

X
(O)R(@,
N

aa 5%

201-S4303-02S020
201-S4303-02S050
201-S4303-02S100
202-S4303-02S020
202-S4303-02S050
202-S4303-02S100
203-S4303-02S020
203-S4303-02S050
203-S4303-02S100
204-S4303-02S020
204-S4303-02S050

204-S4303-02S5100

T
4
63V / 12A
N [SIES

34O
O/ 10
&

201-T4303-02S020

201-T4303-02S050

201-T4303-02S100

202-T4303-02S020

202-T4303-02S050

202-T4303-02S100

203-T4303-02S020

203-T4303-025050

203-T4303-025100

204-T4303-02S020

204-T4303-02S050

204-T4303-02S100

FrEERNBHRRESTRBENE R - BRIWS3

M12 48 ERE iz S-Code & T-Code

YRtE S
InFicE
B 3(2+PE)
HEER/ER 630V / 16A
A P B S
%
= BEME RE (m)

180° A% + 180° & i
06 206-3303-02SL60
PUR 15 206-S3303-02S015
3 206-83303-02S030

AP e 1]

90° Al + 90° B
. 06 209-83303-02SL60
PUR 15 209-S3303-028015
3 209-S3303-025030

180° Al + 90° B
@ " " 06  212-53303-02SL60
PUR 15 212-53303-028015
R 3 212-83303-028030

90° A% + 180° &t
~ K K 06 214-83303-02SL60
PUR 15 214-83303-02S015

3 214-83303-02S030

THEEF A E RS UL+CUL B8

)
4(3+PE)
630V / 12A
Al P Bz S

an 5%

206-S4303-02SL60
206-S4303-02S015
206-S4303-02S030
209-S4303-02SL60
209-S4303-02S015
209-S4303-02S030
212-S4303-02SL60
212-S4303-02S015
212-S4303-02S030
214-S4303-02SL60
214-S4303-02S015

214-S4303-02S030

PEEMNBRRESIIRRBEHNTERITH -

T
4
63V / 12A
Rl P B S

éAO 0
Uoy

206-T4303-02SL60
206-T4303-02S015
206-T4303-02S030
209-T4303-02SL60
209-T4303-02S015
209-T4303-02S030
212-T4303-02SL60
212-T4303-02S015
212-T4303-02S030
214-T4303-02SL60
214-T4303-02S015

214-T4303-02S030

EuEE

B2 180° Al EHi2 180° BiF 180° Ali + 180° B iF 90° A liE + 90° B
50.3 1 _ _
L | S— | o, 54.0 1 503 _ Ef2
T —|= ==
| == 5 | L -
1 il e
s | 5, \sw13 IC ) imi
= \swi3 SW13
ES3iE 90° Bin 100 ] 180° Al + 90° B 90° Alim + 180° Biim
] | 4. ‘ 40.0
| T | =
1
§ | ~ E § | ~ <
= - = 4
T H
M12*Ht | o145 |




M12 Rz EiE (PID) %48 A-Code & B-Code & D-Code

> S
M12 4035 B s i ce : 4 5 8
ns z I — / # HEEE/ER 250V / 4A 250V / 4A 60V / 4A 30V /2A
fr FER FR AR

— n Eﬂ nﬁ $ ﬂ E& 180° 27 BHA A 285-A3A1 285-A4A1 285-A5A1 285-A8A1
ﬂXn Shu / I/ \%t |

BA B 285-B3A1 285-B4A1 285-B5A1 -
B D 285-D4A1 - -
B EmAS I 7K A%E R B#R T (Push-in Design, PID) #E##1ilTHY M12 IR5 CC-Link A 285-A4AC - :
TRAEES - MANRERERBERTREEEUREE ARECAKUNBMETSE DevicoNet
- s . - __ - o N A - - 285-A5AD -
A TEAITEMRRE - ZEWFEHAE - ERFRBERAIRANSERNRIEASEERSA - Eo CANopen
PUEABREZUERER - I EXRNLEGGT - BRI E TN L5 - Ethernet CATSe A 285-ABAE
ARNEERSHEREBRERSNERZEX - BEEEELMLTEBRENARN - SN PROFIBUS B 285-B5AB -
SRIRAERSE - BT ERAERARRDOSRENESN - DREEB (360°) WRHT rorner | o Jo DaAp _ _
IhEE - BEAMAIBIESMNERE T8 -
© Ethernet CAT5 D 285-D4AE - -
LS FEE2—MERNIERR I FMNARIEESUHEYARN TIERHABE 180° 1
. A w = . N L & L . . b
(Industrial Ethernet Protocol) 38 5t 18 4 FE & R R MRS O I F - (5 B ALK IE AT 49 FBRO TS B A 200-AIN 280-Aan 2B0-AA 260-ABAT
SFEERREEERMINES  KNERAEBREN IR B B 286-B3A1 286-B4A1 286-B5A1 -
BA D = 286-D4A1 = -
CC-Link A 286-A4AC - -
DeviceNet
CANopen A - - 286-A5AD -
tem AT EREH Ethernet CAT5e = A - - - 286-ASAE
= >~y :
B/ NERRE 100 250VAC [ 4A (= 4 Pin) PROFIBUS B : . 286-B5AB -
R IP68 EEERE /BEER 60VAC / 4A (5 Pin)
BIERE -40°C ~ 80°C 30VAC / 2A (8 Pin) PROFINET D 286-D4AP - -
BEAR Push-in 385 = W /)\ 100MQ
Ethernet CAT5 D 286-D4AE - -
BRI 0.14 - 0.75 mm?/ 26 - 18 ANG BEESR I ®
BREBRER 4~8 mm TRER 3
PRI A BIREE 180° 2B 180° Sk
8BS/ REERE a®/ & IEC 61076-2-101: Detail specification for M12
SRS / in BT PAG6 connectors with screw-locking <6O 40)
AR N i LTS IEC 60512: Electromechanical components for =
- electronic equipment; basic testing procedure and |
Z I NBR measuring methods o
= N IEC-60529: Degree of protection provided by oy
AR HEEHR enclosures (IP Code) -
FEMASEAR , & UL 94 VO o R AE UL 2238 =
BEEE
M12*1

BEIRNENBEINEMSE - DARIBEERREBRHHC EREET R - IRERFSREENHERSRNBR - RINARH
TRIESMR > IP54 WETEZEREBL - ERERIGOLUERZER - EAERSERE -




M12 PID AR B E R A5RA

11. RBERIIMEEREZREENZBEMEIRFHKUER
BN O 4~6mm ; FREEZEE
BN O 6~8mm ; FRAZEEEBE

M12 ERT[E 2 iE#E x2S

Coppe,rrfoil 0.14~0.75 mm’
b=

1-2. BRI S ERRREEZEZNOT .
BIRERE  AERRERERE - BRIMUSERFRE
#LFEE 10mm IR A RO S SE B AR e 10 R R
BARAERZE - 28mm
BARABZE - 7T~8mm

— A&l ERE / L5<a@a

B B S FRAEBRN M12 BRVEES - EmERIRARSNEREE - MR
MR R PUR 847 - SEIREBINRAER(E M BESBEEMREEFEIER - HEER
WEBEHEZEI RENEUMNENR - BFMRAENERESRE -

@ 4~6 mm —— BLACK
& 6-8 mm_— GREEN

1-3. BAREAEE : 0.14~0.75mm”

21, BERIKIRER SRR T LRV IRIEA RSP
BN BIRER
LR REEFRER
ZUNREERR T | EEER
B

AR S UIEHE®RIEA

BRY —MRR BRI - B E T IZ 7 PROFINET, Ethernet ] CC-Link SERBBRERR
L TSRABESRVEMZE D - FBASBVEMEIAD 1P68 RUBFEEAR - £ PCB - BRE—EZZEH

2-2. Pl AR EOATER B R TS A R B (5 -

WWEmMBAHEAREMBLZEN - EEERERRZHREARIIMNIRATEZ IR
A% - BEANBBEEEHEEE - BB M16 1 Pg9 MR - EFAEEEEMIKE
PREBER~ERE - S — 2R R RM 1 1P68 WINESAR - BEARBIRAY R E (AR -

3. BRI IR EBARREN EF 17 SRANANARFLL 0.8N.m 7 . . \ o ~
ERER2mariT - MUK sEREMIRE SIRERVE T EENER - RN ERITEMY -

& Pin & EARASHE

A BEREMH

- w = N @ g - \ S ER

4-2. fER 17 SESM AR F R AR AVEEER L 0.4N.m SHER

38 B HIET (Push-in Design, PID) E##1l7 - BIRHRE

RIVTIREM - OIECRREIEIE A 0.14~0.75mm’ fYE4R

% FEXE LR UHEEREAR  sEBEHMTN

ER

DIEE-2 IP68 N N B0VAC / 4A (5 Pin)
o BEER /EEER
BIERE -40°C ~ 80°C 30VAC / 2A (8 Pin)
¥ iHH R 0.4 Nm 30VAC / 1.5A (12 Pin)
LB 0.8 Nm BIEEm &/)\ 100MQ
M ER 1REBIRES
B/ =HEE e/ % IEC 61076-2-101: Detail specification for M12
gy pe PA connectors with screw-locking
NAEEE At IEC 60512: Electromechanical components for
. . . electronic equipment; basic testing procedure and
RR A=tk RETIRAE measuring methods
raEai] NBR

IEC-60529: Degree of protection provided by

—_fAA=[as .
BREMSE - PUR (UL AWM 20549) enclosures (IP Code)

THE  REMRGE P

PRREL, 5 UL 94 VO R EE UL 2238

EEER

BEIRENBRNEMSE - VEARBEESEEGHEC EREETLZRY - MIREES[ARBEENBRRNER - AILAER
fRIESAR > IP54 WEHEEREET - BEFERRAKLR - BEN PCB A EMNTE -



M12 Rikk 484 A-Code
YRTE A A
R FEE
L 3 4 5
HEER/ER 250V / 4A 250V / 4A 60V / 4A
N B NI N
S 10 02 1©5©z
40 03 40 03 4@ 03
%456 % 2m PUR &4

EiE Bl E IR AL am 5i%

M16 X 1.5 268-A3000-15S020 268-A4000-15S020 268-A5000-15S020

£53 I 168 B

M16 X 1.5 269-A3000-15S020 269-A4000-15S020 269-A5000-15S020

m o
BIEET % 2m PUR &4
i & RE S 4L a3k

M16 X 1.5 270-A3000-15S020 270-A4000-15S020 270-A5000-15S020

m[{l®
B

M16 X 1.5 271-A3000-15S020 271-A4000-15S020 271-A5000-15S020

m

#&#30 % 2m PUR /B4R
N 38.50 L B

Pg9  268-A3002-15S020 268-A4002-15S020 268-A5002-15S020

Pg9  269-A3002-15S020 269-A4002-15S020 269-A5002-15S020

Pg9  270-A3002-15S020 270-A4002-15S020 270-A5002-15S020

Pg9  271-A3002-15S020 271-A4002-15S020 271-A5002-15S020

A

12
30V 1.5A
i (531

268-A8000-155020 268-AC000-15S020

268-A8002-155020 268-AC002-15S020

269-A8000-15S020 269-AC000-15S020

269-A8002-15S020 269-AC002-15S020

270-A8000-15S020 270-AC000-15S020

270-A8002-15S020 270-AC002-15S020

271-A8000-15S020 271-AC000-15S020

271-A8002-15S020 271-AC002-15S020

BRREEURRBENTE KRR - BUDEH

58.50

(PG9)
M1641.5

jﬁ[ |

\SW19

AIEETL % 2m PUR /&4R
AU IEE 41.50 L

(PGY)

M12 Fiif 5484 B-Code & D-Code

. RS B B B
InFicE
S 3 4 5
BEEER /SR 250V / 4A 250V / 4A 60V / 4A
N 1% N B N B
7~ e 1@ ©2 e o 152
4o o3 ‘0 o3 400’03
%= % 2m PUR &
=i El BB A Rk
NI
M16 X 1.5 268-B3000-15S020  268-B4000-15S020 = 268-B5000-155020
Pg9 268-B3002-15S020 = 268-B4002-15S5020 = 268-B5002-155020
m(f®
Bi%iERE
M16 X 1.5 269-B3000-15S020  269-B4000-15S020  269-B5000-155020
Pg9 269-B3002-15S020  269-B4002-15S020  269-B5002-15S020
m | I®
A= & 2m PUR &%
=i El BB A Rk
N Ui i EE
M16 X 1.5 270-B3000-15S020 = 270-B4000-15S020  270-B5000-155020
- Pg9 270-B3002-15S020 = 270-B4002-15S020 = 270-B5002-155020
ol
B35
M16 X 1.5 271-B3000-15S020  271-B4000-15S020  271-B5000-155020
I Pg9 271-B3002-15S020  271-B4002-15S020  271-B5002-15S020

D
4
250V / 4A
NI =3

=)

N 1 T~
10J\0,
‘o of

268-D4000-15S020
268-D4002-15S020
269-D4000-15S020

269-D4002-155020

270-D4000-15S020
270-D4002-15S020
271-D4000-15S020

271-D4002-15S020

BRRESURRBENT KR  B05H

#H#E % 2m PUR B4R

A HEE 38.50 L B 1R B 38.50
o ——F ] o : ’_]
=] | gg | |
—= = ||| iﬁ | |
/N 2y
M12%1
N ST SW17 SW19

AgET & 2m PUR 84
YN £ 41.50 L ) £ i 47 B 38.10

(PG9)




M12 Rilf FaE4R - @ ER (PROFINET, EtherCAT)

" b D
IR FECE .
/|:,\§ﬁ 4
BHTEER/ER 250V / 4A
NS % S
BT o) (22
R {00y
BEEmE
A PROFINET CAT5
®BEN T 2m B8
e
E IR BEME
PROFINET CAT5 Ethernet CATS
Ethernet CAT5e
YNGR UNIER PUR R
M16 x 1.5
PVC  268-D4000-3PS020
PUR -
N Pg9
i[si_To PVC  268-D4002-3PS020
=3I e 3 i e BB PUR -
M16 x 1.5
PVC  269-D4000-3PS020
PUR -
, ) Pg9
(. ® (. ® PVC  269-D4002-3PS020
AUSETC % 2m BAR
&E
Ethernet CAT5 EEEM SRME
PROFINET CATS Ethernet CAT5e
UNIERERS NITEGE R PUR -
M16 x 1.5
PVC  270-D4000-3PS020
PUR -
Pg9
- PVC  270-D4002-3PS020
B i 1 e S3IEGHEN PUR -
M16 x 1.5
PVC  271-D4000-3PS020
PUR =
Pg9
(F . (F| - PVC  271-D4002-3PS020

D
4

30V /4A
Nl P (SR

N 7 T~
10/10,
R 4o< ;Oa

Ethernet CAT5
(100Mbps)

2=k

268-D4000-1ES020

268-D4002-1ES020

269-D4000-1ES020

269-D4002-1ES020

270-D4000-1ES020

270-D4002-1ES020

271-D4000-1ES020

271-D4002-1ES020

Ethernet CAT5e
(1Gbps)

268-A8000-1ES020

268-A8002-1ES020

269-A8000-1ES020

269-A8002-1ES020

270-A8000-1ES020

270-A8002-1ES020

271-A8000-1ES020

271-A8002-1ES020

FIEERNESREEIRRANTRITR - BUlE:

Tt it BS =P s .
M12 Rk %843 - IRI54 4838 (CC-Link, CANopen, PROFIBUS)
RS A
Iin FACE .
/t,\;f( 4 5
HEEZE /B 250V / 4A 60V / 4A
Al P 8BS QAEP 8% S
T~ v 10 02 r/{fzhj w©é©z
{ |
O O3 “&\0/0}/" o lie:
%Ell‘%éﬁﬁ
A . DeviceNet
THEBENHE CC-Link CANopen
®IHR F 2m ER
b i
=] ] = g
CC-Link DeviceNet/ CANopen  EIREIRAX MM E 7 5
PROFIBUS
YN R e YNGR PUR - 268-A5000-1DS020
M16 x 1.5
PVC 268-A4000-3CS020 -
PUR - 268-A5002-1DS020
Pg9
il&_To; ii=_To] PVC  268-A4002-3CS020 -
3 i 48 B B3 iy 4 2 PUR - 269-A5000-1DS020
M16 x 1.5
PVC 269-A4000-3CS020 -
PUR - 269-A5002-1DS020
X B Pg9
([ © (I m® PVC  269-A4002-3CS020 -
RIgET % 2m ER
g
CC-Link DeviceNet / CANopen BERM HEME ansik
PROFIBUS
N IS NI PUR - 270-A5000-1DS020
M16 x 1.5
PVC 270-A4000-3CS020 -
PUR - 270-A5002-1DS020
Pg9
m“- © PVC 270-A4002-3CS020 -
B3 16 B2 B3 i1 BB PUR - 271-A5000-1DS020
M16 x 1.5
PVC 271-A4000-3CS020 -
PUR - 271-A5002-1DS020
Pg9
Lm,]- © L‘:H - PVC 271-A4002-3CS020 -

B
5

60V / 2A
AwmP BIES

— sl (BN
@ 105\ O,
++o

‘oo’

PROFIBUS

268-B5000-1BS020

268-B5002-1BS020

269-B5000-1BS020

269-B5002-1BS020

270-B5000-1BS020

270-B5002-1BS020

271-B5000-1BS020

271-B5002-1BS020

FEERNEBRRESIRBENE RIS - 85




M12 ER T\ B2 E %

— R 51

BRI BN — ﬂxﬁa@ﬁ?@}fﬁﬂ’]ﬁﬂﬂi ;t
K - IR ERRETELRRERBIINGER

Hﬁﬂﬂ

Z AN

E8 I Bl 2

BT R E AR XU B 2 3 8 (k3B IEC 61076-2-101/111 Frskst - BB 7B SBINGR - 5

HEOEAMM EREEIISRE ML
BRESTUREFNERERZERENTNE
iz (lm ¥ 8 ) - ET#?E{ Tﬂuiﬁﬁ—iéﬁéﬂﬂ@t T ERERERRZ

MAFEERIFRATE - BEAANBREEEEE -

B/NEIRRE 100 250VAC / 4A (< 4 Pin)
BhEZE R IP68 60VAC / 4A (5 Pin)
BIEEE -40°C ~ 80°C 30VAC / 2A (8 Pin)
H B 0.4 Nm HEER /BREER 30VAC / 1.5A (12 Pin)
LB 0.8 Nm S-Code: 630VAC / 16A (3 Pin)
S-Code: 630VAC / 12A (4 Pin)
T-Code: 63VAC / 12A (4 Pin)
M &R 1R RS
35 A B
B/ REEE We®/ = IEC 61076-2-101: Detail specification for M12
JEEs e PA connectors with screw-locking
NAEL HESHER IEC 61076-2-111: Circular connectors - Detail
. specification for power connectors with M12
GhER HESiER N screw-locking
== AEE
RETIRAE ,
21 B NBR IEC 60512: Electromechanical components for
electronic equipment; basic testing procedure and
PVC (ULAWM 1061) measuring methods
#R S-Code: mPPE (UL AWM 11029) IEC-60529: Degree of protection provided by
T-Code: mPPE (UL AWM 11027) enclosures (IP Code)
PR, 75 UL 94 Vo e 1R UL 2237 / 2238
EEEIR

BEIRNENBRIMEMSE - DARBERREBRHAC EREEW LR - IREEFREENERSRNER
5 PCB fHH ST E -

RESH > IP54 WEERHEEH - BEREZRBERSR - B

AR ER S SMNER

Rl AfEH

M12 ERE# FEFR & FHREt A-Code

USTED

USTED

USTED

USTED

uSTED

USTED

uSTED

USTED

i FECE

BEEE /B

iERN

EtE
YN IEE

B

o
NI 4R

SR

e
NI 4R B

SR

e
YN RS

B i

=

i

mis A A A A A
S8 3 4 5 8 12
250V / 4A 250V / 4A 60V / 4A 30V / 2A 30V / 1.5A

AwP  BiwS AP BiwS AKP SBikS QWP 8kKS AwP  BiES

v 1O v 10 O2 7 10 5 O?
O O3 10 O3 40003

##HN % 0.5m BT
[ E $R AL ki

M16 X 1.5 218-A3000-0VSL50 218-A4000-0VSL50 218-A5000-0VSL50 218-A8000-0VSL50 218-AC000-0VSL50

Pg9  218-A3002-0VSL50 218-A4002-0VSL50 218-A5002-0VSL50 218-A8002-0VSL50 218-AC002-0VSL50

M16 X 1.5 219-A3000-0VSL50 219-A4000-0VSL50 219-A5000-0VSL50 219-A8000-0VSL50 219-AC000-0VSL50

Pg9  219-A3002-0VSL50 219-A4002-0VSL50 219-A5002-0VSL50 219-A8002-0VSL50 219-AC002-0VSL50

Bl RE IR AL an ik
M16 X 1.5  232-A3000-S 232-A4000-S 232-A5000-S 232-A8000-S 232-AC000-S
Pg9 232-A3002-S 232-A4002-S 232-A5002-S 232-A8002-S 232-AC002-S
M16X 1.5  233-A3000-S 233-A4000-S 233-A5000-S 233-A8000-S 233-AC000-S
Pg9 233-A3002-S 233-A4002-S 233-A5002-S 233-A8002-S 233-AC002-S
AUSHTC %% 0.5m EFR
& R SR A an sk

M16 X 1.5 220-A3000-0VSL50 220-A4000-0VSL50 220-A5000-0VSL50 220-A8000-0VSL50 220-AC000-0VSL50

Pg9  220-A3002-0VSL50 220-A4002-0VSL50 220-A5002-0VSL50 220-A8002-0VSL50 220-AC002-0VSL50

M16 X 1.5 221-A3000-0VSL50 221-A4000-0VSL50 221-A5000-0VSL50 221-A8000-0VSL50 221-AC000-0VSL50

Pg9  221-A3002-0VSL50 221-A4002-0VSL50 221-A5002-0VSL50 221-A8002-0VSL50 221-AC002-0VSL50

AUSHT IRMREL
[ E IR A i 5i%
M16 X1.5  230-A3000-S 230-A4000-S 230-A5000-S 230-A8000-S 230-AC000-S
Pg9 230-A3002-S 230-A4002-S 230-A5002-S 230-A8002-S 230-AC002-S
M16 X1.5  231-A3000-S 231-A4000-S 231-A5000-S 231-A8000-S 231-AC000-S
Pg9 231-A3002-S 231-A4002-S 231-A5002-S 231-A8002-S 231-AC002-S

BYRRESUKREHNERITH  BEH

HHESFRENF UL+CUL 3258



M12 EFil wE TR & [FME A-Code

##H % 0.5m EFR
AR

L
I —
> of
. = i3
—r— g\/
SW19
#EHI0 BREt
7 D i A 20.0
7.0
oS = Lo
< = —|&
SW19
AIEET 7 0.5m BT 4R
N 250 ]
210
_—T
| 97— )
QS ,g = Y
SW19 SW17/
AUEHTC 1R FR 8t
Ui R EE

$20.9
PG9

_MI1B*1.5

I FHESI I B R EREEE

-

5

o

£

o
5 - 5 -
4 Black & 4 Black &
3 Blue B 3 Blue
2 2 White B
1 Brown 17 1 Brown #%

-

c

o

£

[

=)

c

S

£

<

€ 3p 4P

o

= N w s~ O

B3 i 4 R
[Sp] —
S >
N &
= o
53 i 4 R 20.0
8.9
o | ] H 5 ©
[N X |
Sz ] ?geﬁ
L =
! 1
SW17 SW19
B3 i 1 R
SHE
ol
NES
o= =
=
IR IEE
r9)
> >
S| 8%
oN| OO
=  —
=
12 Red /Blue #I /%
1 Gray / Pink 1% / 3
10 Violet %%
9 Red #I
8 Red 4T 8 Gray X
7 Blue B 7 Black 2
6 Pink 5 6 Yellow &=
Gray & 5 Gray 5 Pink 5
Black 4 Black & 4 Green #
Blue # 3 Blue B 3 White B
White B 2 White & 2 Blue B
Brown 1% 1 Brown 17 1 Brown 17
5P 8P

Acode

M12 R T2 F4 & I &t B-Code & D-Code

oy

USTED

@

USTED

@

uSTED

oy

uSTED

®@e

USTED

@

USTED

@

USTED

@

uSTED

RS
ImFEE
8L
BHTEER/ER
~
EE B E IR 4
N
M16 X 1.5
n Pgo
= Pe
SlRiEE M16 X 1.5
ﬂmﬂg Pg9
bt & E 124X
AlRiEE M16 X 1.5
[m o Pg9
e |14
i M16 X 1.5
([ P
wE & RE 124X
N
M16 X 1.5
e
Ml Pe
SR IEE
M16 X 1.5
(f= P
P [E] & 12 41
N T
M16 X 1.5
WEF  Pee
U R
M16 X 1.5

Em];; Pg9

B
3
250V / 4A
Nl P B S

T
o

1
<) s

B
4 5
250V / 4A 60V / 4A
Rl P i S Nl P B S
o~ R e P N
1@ Oz 1© 5! Oz
‘oo° 4ooo3

%8 % 0.5m EF4R

218-B3000-0VSL50

218-B3002-0VSL50

219-B3000-0VSL50

219-B3002-0VSL50

an 5i%

218-B4000-0VSL50 218-B5000-0VSL50

218-B4002-0VSL50 218-B5002-0VSL50

219-B4000-0VSL50 219-B5000-0VSL50

219-B4002-0VSL50 219-B5002-0VSL50

B FHE

&-nulh
232-B3000-S 232-B4000-S 232-B5000-S
232-B3002-S 232-B4002-S 232-B5002-S
233-B3000-S 233-B4000-S 233-B5000-S
233-B3002-S 233-B4002-S 233-B5002-S

AEET % 0.5m EF 4R
an 5%

220-B3000-0VSL50

220-B3002-0VSL50

221-B3000-0VSL50

221-B3002-0VSL50

220-B4000-0VSL50 220-B5000-0VSL50

220-B4002-0VSL50 220-B5002-0VSL50

221-B4000-0VSL50 221-B5000-0VSL50

221-B4002-0VSL50 221-B5002-0VSL50

BUSHTL IR HREL
e 51
230-B3000-S 230-B4000-S 230-B5000-S
230-B3002-S 230-B4002-S 230-B5002-S
231-B3000-S 231-B4000-S 231-B5000-S
231-B3002-S 231-B4002-S 231-B5002-S

HHEEFRENF UL+CUL 3258

D
4
250V / 4A
Rl P B S

T ] N
1@ ©2
\ ‘«0\of

218-D4000-0VSL50
218-D4002-0VSL50
219-D4000-0VSL50

219-D4002-0VSL50

232-D4000-S
232-D4002-S
233-D4000-S

233-D4002-S

220-D4000-0VSL50
220-D4002-0VSL50
221-D4000-0VSL50

221-D4002-0VSL50

230-D4000-S
230-D4002-S
231-D4000-S

231-D4002-S

ErRRESUIKRANTE KRR - BUEH



M12 R FE F4 & 2% &1 B-Code & D-Code M12 ERi FEF4 S-Code & T-Code

#ENX F0.5mEBEFE R ] s s T
M
;(L 83 BHEER /SR 630V / 16A 630V / 12A 63V / 12A
| Nl P i S Rl P i S N i S
| — ol - : g ‘O
=) 29\‘ Y A— : 8 M a —T< :O TO 3
g = ———— © ELD/ § i ! O%ZQ
= 2
o ot =
W17 S % 5 0.5m EFE
#BHET 1B S - [ E 1R 4 sk
YN £ 20.0 B3 0% 1 8
: - 20.0 S-Code T-Code
: 85 @ ®- M16 X 1.5 218-S3300-0MSL50 218-S4300-0MSL50 218-T4300-0MSL50
} — ustmn  uswE
= = g 3 ol i i S 0] . Pg9 218-S3302-0MSL50 218-S4302-0MSL50 218-T4302-0MSL50
s - o S| | - *g e U@:‘ m: %m:
1 7 £ i 4 El T 12 4 Rk
e g
- — S-Cod T-Cod
e s o e = -Code -Code
Hljﬁﬁ:_l:t w 0.5m & g(’? ® ® M16 X 1.5 219-S3300-0MSL50 219-S4300-0MSL50 219-T4300-O0MSL50
YNt B3 0% 1 8 i
Pg9 219-S3302-0MSL50 219-S4302-0MSL50 219-T4302-0MSL50
LE LE
= /g\g o| Bz % 0.5m EF4E
S| e S &5 e
= = BB ok
— N
S-Code T-Code
H'Jﬁ:é:ft Eﬂ(ﬁ- @ o M16 X 1.5 220-S3300-0MSL50 220-S4300-0MSL50 220-T4300-0MSL50
YNt 23.0 B3 i 475 B
21.0 W?T;m]z ’//ffﬂ]% Pg9  220-S3302-0MSL50 220-S4302-0MSL50 220-T4302-0MSL50
ol = of ol T B0 15 BSR4 25
S & SRR
= = S-Code T-Code
®- ®- M16 X 1.5 221-S3300-0MSL50 221-S4300-0MSL50 221-T4300-O0MSL50
SW17 W19 SW17
w s 1 Pg9 221-S3302-0MSL50 221-S4302-0MSL50 221-T4302-0MSL50
TN Lt il L&
5 - 5 5 Gray X 4 Blue E THIEFE A EE UL+CUL 3358 B REBIRBMAMNE KIS - BulisH
- 4 Black 2 4 Black 2 4 Black 2 ‘g’ 3 Orange &
3 3 Blue & 3 Blue & 3 Blue & £ 2 White 5
[ o
[ 2 2 White & 2 White 1 Yellow &
1 Brown #x 1 Brown 1% 1 Brown 1%
= = = g =
H o. O O £ 0 £ 20 O
% §o oj‘ %% qé’ o o
H £
2 3p 4p 5p o 4p
o
B code D code




M12 E R B 4 S-Code & T-Code

M12 PCB T B/ 3% 1% 85
g - —fREN 5% / EIFEES)

)

B]¥AY M12 PCB B EZR I - ERNENB S L2 EZEEHZ PCB - Ei%
7] Newi #21R1E IEC 61076-2-101 R EFFLET - EMEABIIMNMEER LHEEMEE IR TR
WimREARE - A ERSHNTERARE MEREIROERSE -

$20.9
M16%1.5
(PGY)

$20.9
M12%1
[ ] 1

™~ | L T 1

N
M16%1.5
(PGY)

B]5¥rY PCB B E 2= 20k VAR ERENEEBIINRUZEZSMAE - MERFS(ERY
SlhEMS - HERENRIEE PCB ABEMAE R 180 E (Straight) 71 90 & (Angled) &9

.ml"\ , . = 4 AN T2 —+ s SN
RIS %5 0.5m BF 4R BHT - REREAERENRESA -
22 Vi 146 R 3 i e AR
EHFZTERINEBRIRIEN  REJESRIMNINBEEILBERMRRETE - YRS
230 L 19.6 L | REBEENERRNS  BEACHRERMUENEERSESEBHTEN - IDER VT RHTEFRRE
0 — RoEEERS - ik T AR PCB B - BBESBINREREN Pin SHERIINAE
1 - Mt (Functional Earth) - @SR EEEBARE PEEBHENEMTENEDN -
o 2 ,\LO' X : j oo
o b S| B : | RoHS cus G0\ | 96hr |
g &2 =8| = I | 1055 Salt
S| N = | J Zplie LISTED
TS BRI
SW17 SW17 - - )
SW19 SW19 /RN EL 100 250VAC / 4A (< 4 Pin)
BFEEE IP68 60VAC / 4A (5 Pin)
RIERE -40°C ~ 80°C BREE/ ERER 30VAC/ 2A (8 Pin)
w R HTEHE 0.4 Nm 30VAC / 1.5A (12 Pin)
i FHESI I B RS ARER R —
- = ZEFE 0.8 Nm 63V / 12A
PE Yellow / Green & / # PE Yellow / Green & / # 4 Black 2
3 3 Black 2 3 Black & 3 s Blue & wEMAET /)N 100MQ
£ - 2 Back % £ whie & MRIE R, R T
1 Black 2 1 Black 2 1 Brown 15 EE ) EEEE was /e IEC 61076-2-101: Detail specification for M12
= = connectors with screw-locking
= . IEC 61076-2-111: Circular connectors - Detail
aE» E:; o) LReEE PA specification for power connectors with M12 screw-
) O O £ 3 et ime locking
§ S qu g Oﬁoecl) NAER e SiEE AR IEC 60512: Electromechanical components for
® E electronic equipment; basic testing procedure and
£ c SNER HEEIER measuring methods
3P 4P o 4P : :
s IEC-60529: Degree of protection provided by
S code T code EHE NBR enclosures (IP Code)
PIASAR , /5 UL 94 VO ToRa IR AE UL 2238 / UL2237

AEEE

BEIRENERIEMSE - VARIBERRFBHACEESEETZEY - IREERRAHEAEHOTRMNEHR - AILARH
RESMR > IP54 WETEEREE L - ERERBARKLR - BB PCB A EHNTE -




M12 Fiik / Rl PCB I A-Code

3
tnFECE
2
BEER/EBR
B~
e El B 1B
AU I E
@ M16 X 1.5
Pg9
[ 2
1
@e M16 X 1.5
Pg9
(Hzo
&t B TE 1B A
AU I EE
@ M16 X 1.5
[Wmé Pg9
15
@ M16 X 1.5
e
&8 & TE SR AL
AU I EE
M16 X 1.5
Pg9
ek
11 B
M16 X 1.5
Pg9
"

A
3
250V / 4A

N B

A
4

250V / 4A
N =:

i
v 10 v 10 O2 ©
O O3 O O3

A
5
60V / 4A

N

180° il 5E RIS R

276-A3000-6

276-A3002-6

277-A3000-6

277-A3002-6

276-A4000-6

276-A4002-6

277-A4000-6

277-A4002-6

an 5i%

276-A5000-6

276-A5002-6

277-A5000-6

277-A5002-6

180° Hiffl 5@ mIH |ER

226-A3000-6

226-A3002-6

227-A3000-6

227-A3002-6

226-A4000-6

226-A4002-6

227-A4000-6

227-A4002-6

an 5i%

226-A5000-6

226-A5002-6

227-A5000-6

227-A5002-6

90° HfI5E RAUSHIU MEFHK

228-A3000-3

228-A3002-3

229-A3000-3

229-A3002-3

228-A4000-3

228-A4002-3

229-A4000-3

229-A4002-3

an 51k

228-A5000-3

228-A5002-3

229-A5000-3

229-A5002-3

=g

‘iib
O

40 03

A
8
30V /2A

N B

276-A8000-6

276-A8002-6

277-A8000-6

277-A8002-6

226-A8000-6

226-A8002-6

227-A8000-6

227-A8002-6

228-A8000-3

228-A8002-3

229-A8000-3

229-A8002-3

HHEEFHENT UL+CUL 3258

A
12
30V /1.5A

N BHiG

276-AC000-6

276-AC002-6

277-AC000-6

277-AC002-6

226-AC000-6

226-AC002-6

227-AC000-6

227-AC002-6

180° Wil 5@ RUSHIU i

X Vi 47 B
21.00 5.00
10.00 3.0
ol 2
(s3] [oxipoy
SWi7
B} {8 EE
17.60 2.00
_3.00
o L2 ‘
2 o —
M12*1 SW19 SW17

180° L5 @ BUSHT. IREFH

Ui R

920.9
(Pca)
M16%1.5

53 i 75 B

$20.9

Pin out

Pin arrangement

7 Pin arrangement Pin out

Pin out

Pin arrangement

Pin out

Pin arrangement

13

4P

@12

M12 Fiik / Rl PCB I A-Code PCB 4%/~ [El

PCB Layout

5P 8P 12P

PCB Layout

)

6x

81.20

N
85.0

~J

-

%;ﬂ
A

= =
O O
Owm
Q O
IR

o
<
©
<
-
N
T

Acode

PCB Layout

A9
o=

6*61.0

5P 8P 12P

PCB Layout

o

N

=




M12 Rk / ER il PCB I, A-Code PCB ffi#i/~RE M12 Rk / &R # PCB =X B-Code & D-Code

00° IS A WER - R B 5 B D
AV PCB Layout SE 3 4 5 4
13.40 13.40 13.40 FTEERE /BN 250V [ 4A 250V / 4A 60V / 4A 250V [ 4A
- | I s
5 S S < : Al Bz N =1 Al Bz N =1
E a 5| - I 2 s AINANESE — T T T T g 7T T AT T
. ig’ Fg" 8 | ~ 10 10J\O; 10502 10/10,
<85 o s & ‘0|0 ‘00 ‘o0 \ $0\/Of
= 180° Ll AE AIEHI Rl
[ o) 6 o © = [=J]
g > > > g1 BB L
o 0 o) Q £ o.°
s : N IR
it 3P 4P 5P 8P =@“ M16 X 1.5 276-B3000-6 276-B4000-6 276-B5000-6 276-D4000-6
[y Acode
B i 4 B PCB Layout T Pg9 276-B3002-6 276-B4002-6 276-B5002-6 276-D4002-6
13.40 mmi@
E B3 1 3 BE
s ®- M16X 15  277-B3000-6 277-B4000-6 277-B5000-6 277-D4000-6
g §§ € Pg9 277-B3002-6 277-B4002-6 277-B5002-6 277-D4002-6
2 o {0702 [ﬁ]%@
) 4O 03 40 O3
§ 180° LS E AISHT HMER
c * “P * & 18 BB A Rk
o A code
UNIGERERS
”g'%"s M16 X 1.5 226-B3000-6 226-B4000-6 226-B5000-6 226-D4000-6
- Pg9 226-B3002-6 226-B4002-6 226-B5002-6 226-D4002-6
|2
=R
M16 X 1.5 227-B3000-6 227-B4000-6 227-B5000-6 227-D4000-6
Um& Pg9 227-B3002-6 227-B4002-6 227-B5002-6 227-D4002-6
90° il RIEHT HEREHK
Frt [ RE $2 4
YN EE
M16 X 1.5 228-B3000-3 228-B4000-3 228-B5000-3 228-D4000-3
uﬂw Pg9 228-B3002-3 228-B4002-3 228-B5002-3 228-D4002-3
o] 3
3 i 1 EE
M16 X 1.5 229-B3000-3 229-B4000-3 229-B5000-3 229-D4000-3
229-B3002-3 229-B4002-3 229-B5002-3 229-D4002-3

HHASF R ES UL+CUL :3:E



M12 Rk / &Rk PCB = B-Code & D-Code PCB f4& <& M12 Rk / R PCB = B-Code & D-Code PCB 4 [E

180° kil 5@ RUSHIU FFilk 90° L5 m RISHI B

YN IE D PCB Layout 73 B 44 PCB Layout
%5
21.00 5.00 5 N E]
o / ‘ o
10.00 3.00 £ VA £
‘ B owd PER a3 ES
A o) =e o o2 g E
95.0 S Bx 0 3
o = Sle2 &9 s
D [ 3 =
ISR k=
s —= g > oo 6O -
H 0 Coleide) S
=4 0 Q 0 @ O o O o O 6 O
c £
swi7 s ) o o o 2
© 3P 4p 5P 4p H]
c S
& B-code D- code ® 3p 4P 5P 4P
(=
™ o B-code D- code
53 i 4 R PCB Layout
%) 33 S I\
17.60 5.00 ~ 1 F%Z ~ 1 1 PCB Layout
3.00 - o N 3 of £ 3 S g of N g
t 3 N s ~ s S EX ><§ ! TR 1.
o 3l @ @ i a5l B =N 55 B B = 5
N ~ E g e 5
| = — ~ - - -
gl 21 = » & i —— )i ——7 Y <oy < o = EN
il = & & & & *gg‘ *g
&8 &9
M12*1

w
=
~J
Pin arrangement
£
O O
Q
9
O O
QO 0
W N
£ >
O O
QO O
w N
<
O O
o O
w
$20.9
(P9
M16*1.5

Pin arrangement
B
O O
Q

B-code D- code

180° WHifl5 @ AISHTV HEFHR

YN IE G D PCB Layout
75 NS} N8 NS}

= kg o R NIk SHECRY
g 650 2 5.0 & 95,0 = 95,0 ®
i X x 2 2

;é; O o O o O o0 O

E O

> . 9 9 0

2 .

E 3P 4P 5P 4P

o B-code D- code
153 i 45 A PCB Layout

Pin out
3 2,
A
= 8!/
71"
pul g\4+
b .2ﬁ
%3 =
710
pl g\4+
W12

$20.9

Pin arrangement
£
O O
Q
9
O O
Q9
'
O O
O -
Q O
o0 N
5
3
@
Qo O
»

B-code D- code




M12 R | #RE#z PCB T\ T-Code X PCB fii#x/~[E

USTED

] T
IR FEE
m Pt 4
SR /'l 63V /12A

N (SIS

5
02

180° LIS AUSHT Bk

HiE Bl E IR A G 5%
PN 3
M16 X 1.5 276-T4300-6

Pgo 276-T4302-6
{is/=0
B} I i
M16 X 1.5 277-T4300-6
277-T4302-6

%@ ng

180° il m RAUSHIC BB

S Bl R IR A an ik
AT R
M16 X 1.5 226-T4300-6

il ng 226-T4302-6
Imml
[SAEGH
M16 X 1.5 227-T4300-6
227-T4302-6

Em% Pg9

HHEEFRENF UL+CUL 3258

180° thil /5@ RUSHZU BRik

180° thil /5@ AUSHZN BFilk

AP E 21.00 5.00
3.00
o 2
(o3} o X
| 82
sl —=
SW19 Swi7
13 i 1 B
17.60 5.00
3,00
R
2
&
=
SW17

180° il @ AISHTV ERER

A EEE

920.9
(Pc9)
M16*1.5
M12*1

w17
W19
B3 0 4 BB 17.6 5.0_3.0,
16.1 ‘
o TH
2N B—| *
o O o~
Swi7
SW19

180° Hifil5 @ RAUSHT EEHR

Pin out

Pin arrangement

PCB Layout
NCuRO.
iy
1 \‘r/\)
]
Kl —{i}— i
o O
PEY A9
QO OZ
4P
T code

PCB Layout
95+
- 1
3
£
o
©,
$9.1 4x91.4
5 O
£
@ oLlOo
: e
®
=
T 4P
T code

M8 4R T\ Bl 7 & iz 28

— R 51

BT 5#R8) M8 [B|iZ & #e2s k2 IEC 61076-2-104 P&t - 1 M12 B2 ERE AL - BR 7 EXR
BEESURENREMI  RIWRIITBAREZRZNRER  £ERE[FANRHEEZEN
R - BT M8 0 M12 Bl E f2ssE f TR R R AAR - AEAEEER - EHE -

[E 5 1 A 1

wREANME

HETERENSERAEAE - BOFREHE /SmER PVC & PUR BRLUREEBHEX -
PVC BEZEm L ENIR TEP RS TNRANBEERE  ©MUERNBERAEE
BARHZEBENENS ; PUR SEEEHMIERUHIR - AMEMRZMCENE - BEERSH
MERBE - MEMARETY  TRARKEHFESSEERSHNGS

B/ EINREL
PSR

RIBRE

HiHAE

BAER
S

[RMEH, 75 UL 94

s

100
IP68
-40°C ~ 80°C (BB ABEE
-25°C ~ 80°C (B8
0.2Nm

i)
2 )
MRER
e/ e
PUR /PUR
NBR

HETRER

PUR (UL AWM 20549)
PVC (UL AWM 2464)

HB

GERER )

it

Ao E IR A

EEEE

96hr |

Salt

RoHS cus G0\
NI/ IP 68
v 68/

EREH

B0VAC / 4A (< 4 Pin)
30VAC / 3A (5 Pin)
30VAC / 1.5A (6 & 8 Pin)

/)N 100MQ

IRAEBRER

IEC 61076-2-104: Detail specification for M8
connectors with screw-locking

IEC 60512: Electromechanical components for
electronic equipment; basic testing procedure and
measuring methods

IEC-60529: Degree of protection provided by
enclosures (IP Code)

UL2238

BEIRNENERINEMSE - D ARIBEBZRREFHHHAC EREET LR - IREEFIRHEENERSRNER - RINAEH

RESR > IP54 WETEEREEE - BREERAKLR - BE PCB A EMM

B/ 488
T4 -




M8 F 42 E Rt A-Code & B-Code

M8 %433 7 A-Code & B-Code

7 EE ﬂﬁ% A A A A 7 g ﬂﬁ% A A A B
B 3 4 6 8 5 SE 3 4 6 8 5

BEEER/ER 60V / 4A 60V / 4A 30V /1.5A 30V /1.5A 30V /3A BEER /ER 60V / 4A 60V / 4A 30V /1.5A 30V /1.5A 30V /3A
NIHP  BIHS QKPP BIFS QKPP 8BiES QKPP BisS AKP  8i%S NP BIsS AP SBI%S AwP  BmS 2AmP BkS QmP SIS

ebs 0 o 50 2 = o 1 e@ﬁ 1
" OROBeR0BDOR C GG

= BEME RE (m) maR & BEME RE (m) a5k

E832 180° Al 2 301-A3000-10S020 301-A4000-10S020 301-A6000-10S020 = 301-A8000-10S020 = 301-B5000-10S020 180° A0 + 180° £ 0.6  306-A3000-10SL60 306-A4000-10SL60 306-A6000-10SL60  306-A8000-10SL60  306-B5000-10SL60
- PVC 5 301-A3000-10S050 301-A4000-10S050 301-A6000-10S050 = 301-A8000-10S050 = 301-B5000-10S050 @ PVC 15  306-A3000-10S015 306-A4000-10S015 306-A6000-10S015  306-A8000-10S015  306-B5000-10S015
10  301-A3000-10S100 301-A4000-10S100 301-A6000-10S100 = 301-A8000-10S100 = 301-B5000-10S100 3 306-A3000-10S030 306-A4000-10S030 306-A6000-10S030  306-A8000-10S030  306-B5000-10S030
2 301-A3000-00S020 301-A4000-00S020 301-A6000-00S020  301-A8000-00S020  301-B5000-00S020 0.6 306-A3000-00SL60 306-A4000-00SL60 306-A6000-00SL60  306-A8000-00SL60  306-B5000-00SL60
PUR 5 301-A3000-00S050 301-A4000-00S050 301-A6000-00S050 ~ 301-A8000-00S050  301-B5000-00S050 PUR 15  306-A3000-00S015 306-A4000-00S015 306-A6000-00S015  306-A8000-00S015  306-B5000-00S015
e _— 10  301-A3000-00S100 301-A4000-00S100 301-A6000-00S100  301-A8000-00S100  301-B5000-00S100 F =]} 3 306-A3000-00S030 306-A4000-00S030 306-A6000-00S030  306-A8000-00S030  306-B5000-00S030
E832 180° i 2 302-A3000-10S020 302-A4000-10S020 302-A6000-10S020 = 302-A8000-10S020 = 302-B5000-10S020 90° ‘A +90° i 0.6  309-A3000-10SL60 309-A4000-10SL60 309-A6000-10SL60  309-A8000-10SL60  309-B5000-10SL60
ﬁ’,t).,“ PvC 5 302-A3000-10S050 302-A4000-10S050 302-A6000-10S050 = 302-A8000-10S050 = 302-B5000-10S050 @.,"‘ PVC 1.5 309-A3000-10S015 309-A4000-10S015 309-A6000-10S015  309-A8000-10S015 = 309-B5000-10S015
10  302-A3000-10S100 302-A4000-10S100 302-A6000-10S100 = 302-A8000-10S100 = 302-B5000-10S100 3 309-A3000-10S030 309-A4000-10S030 309-A6000-10S030  309-A8000-10S030  309-B5000-10S030
2 302-A3000-00S020 302-A4000-00S020 302-A6000-00S020  302-A8000-00S020  302-B5000-00S020 0.6 309-A3000-00SL60 309-A4000-00SL60 309-A6000-00SL60  309-A8000-00SL60  309-B5000-00SL60
PUR 5 302-A3000-00S050 302-A4000-00S050 302-A6000-00S050  302-A8000-00S050  302-B5000-00S050 PUR 1.5 309-A3000-00S015 309-A4000-00S015 309-A6000-00S015  309-A8000-00S015  309-B5000-00S015
s — 10 302-A3000-00S100 302-A4000-00S100 302-A6000-00S100  302-A8000-00S100 = 302-B5000-00S100 3 309-A3000-00S030 309-A4000-00S030 309-A6000-00S030  309-A8000-00S030  309-B5000-00S030
B8 90° 1% 2 303-A3000-10S020 303-A4000-10S020 303-A6000-10S020 =~ 303-A8000-10S020 = 303-B5000-10S020 180° Al +90° i 0.6  312-A3000-10SL60 312-A4000-10SL60 312-A6000-10SL60 = 312-A8000-10SL60  312-B5000-10SL60
- PVC 5 303-A3000-10S050 303-A4000-10S050 303-A6000-10S050 = 303-A8000-10S050 = 303-B5000-10S050 @ PVC 15  312-A3000-10S015 312-A4000-10S015 312-A6000-10S015 = 312-A8000-10S015  312-B5000-10S015
10 303-A3000-10S100 303-A4000-10S100 303-A6000-10S100 = 303-A8000-10S100 = 303-B5000-10S100 3 312-A3000-10S030 312-A4000-10S030 312-A6000-10S030  312-A8000-10S030  312-B5000-10S030
2 303-A3000-00S020 303-A4000-00S020 303-A6000-00S020 ~ 303-A8000-00S020  303-B5000-00S020 0.6  312-A3000-00SL60 312-A4000-00SL60 312-A6000-00SL60  312-A8000-00SL60  312-B5000-00SL60
PUR 5 303-A3000-00S050 303-A4000-00S050 303-A6000-00S050 ~ 303-A8000-00S050  303-B5000-00S050 PUR 15  312-A3000-00S015 312-A4000-00S015 312-A6000-00S015  312-A8000-00S015  312-B5000-00S015
Eﬂi—tr| 10  303-A3000-00S100 303-A4000-00S100 303-A6000-00S100  303-A8000-00S100  303-B5000-00S100 e [l 3 312-A3000-00S030 312-A4000-00S030 312-A6000-00S030  312-A8000-00S030  312-B5000-00S030
2832 90° 8% 2 304-A3000-10S020 304-A4000-10S020 304-A6000-10S020 = 304-A8000-10S020 = 304-B5000-10S020 90° ‘Al + 180° B 0.6  314-A3000-10SL60 314-A4000-10SL60 314-A6000-10SL60  314-A8000-10SL60  314-B5000-10SL60
- PVC 5 304-A3000-10S050 304-A4000-10S050 304-A6000-10S050 = 304-A8000-10S050 = 304-B5000-10S050 @ PVC 15  314-A3000-10S015 314-A4000-10S015 314-A6000-10S015  314-A8000-10S015  314-B5000-10S015
10 304-A3000-10S100 304-A4000-10S100 304-A6000-10S100 = 304-A8000-10S100 = 304-B5000-10S100 3 314-A3000-10S030 314-A4000-10S030 314-A6000-10S030  314-A8000-10S030  314-B5000-10S030
2 304-A3000-00S020 304-A4000-00S020 304-A6000-00S020  304-A8000-00S020  304-B5000-00S020 0.6 314-A3000-00SL60 314-A4000-00SL60 314-A6000-00SL60  314-A8000-00SL60  314-B5000-00SL60
PUR 5 304-A3000-00S050 304-A4000-00S050 304-A6000-00S050  304-A8000-00S050  304-B5000-00S050 PUR 1.5 314-A3000-00S015 314-A4000-00S015 314-A6000-00S015 = 314-A8000-00S015 = 314-B5000-00S015
ﬂj_&‘ 10  304-A3000-00S100 304-A4000-00S100 304-A6000-00S100  304-A8000-00S100 = 304-B5000-00S100 A=) =l 3 314-A3000-00S030 314-A4000-00S030 314-A6000-00S030 ~ 314-A8000-00S030  314-B5000-00S030

HHEEFRENF UL+CUL 3258

E5i2 180° Alm

FEERNESRESIRRBENT KRR - Bul5:

E5i2 180° Bin

HHIEF R ENS UL+CUL B

180° Al + 180° B

FIEERNERREETRRANERITR - BEH

90° Al + 90° Bl

278 L

2/.8

‘ 34.5 , L ‘
i | | &
<
) [L@ o~
o ol
= 2 x SW9 ?j;)
B2 00° Al Big 90° 13 278 L |
‘ ‘ 180° Al + 90° B 90° Ak + 180° i
o | § \
s b = -
SWY i o =
MB* 1 MB*1 M8*1 | | <
$9.9| 9.9 9.9 £9.9




M8 # Rk B F4R & I8 £ A-Code & B-Code

b3
M8 M = . mE A A A A
i
I\ = sw 3 : . . 5
BHTEER/ER 60V / 4A 60V / 4A 30V /1.5A 30V/1.5A 30V /3A

’Aﬂ”‘ !HﬁS /\ﬂﬁﬁ BixS QKPS

— R &fl 3% o s ot o
AL ©96% €569 €63

Al P

BixS ARQIEP !ﬂﬁs

éﬁé‘t’. 20.5m BFE
=B B RE IR AL ik
®  AEE
EERMEIEEGHERKIEZEENE T T - B;E4IE IEC 61076-2-104 U8 :TiR&E - #ELE TR M8 X 0.5  318-A3000-0VSL50 318-A4000-0VSL50 318-A6000-0VSL50 ~ 318-AB000-0VSL50  318-B5000-0VSL50
SE/NE M8 BB EERR - AEPRME FEEFNARNERNBRSE s EBREH Imﬂ"ﬁi—
e EEIRE—MEERESNNERE - Bime M8 ot M12 Bl @R E0FR EE T XIR ®. OREE
5 REREMEAEISZNGRGE TEEL NSRS - WM 7 &IE IP67 S4RMIBLEMP K HE -
. M8 X 0.5 319-A3000-0VSL50 319-A4000-0VSL50 319-A6000-0VSL50 ~ 319-A8000-0VSL50  319-B5000-0VSL50
BE ° D]J
EEEL XN ERNERREANHEAEEHAMBEIIZUESAENEZEERK - I L ity
BEEHEREMNm FEEFPREBREANBEBETER - EeEE=MNIIN - BALAWAETR M2 rate B IR a5
HZREWERES - @ DTEE
M8 X 0.5 332-A3000-S 332-A4000-S 332-A6000-S 332-A8000-S 332-B5000-S
@ s
mpiiac LISTED P 68 Salt M8 X 0.5 333-A3000-S 333-A4000-S 333-A6000-S 333-A8000-S 333-B5000-S
e el s 1 EREH Dl%
B/ MER R E 100 60VAC / 4A (< 4 Pin) AU % 0.5m BFMR
GRS P68 HEEE/ BEBH 30VAC / 3A (5 Pin) i EERA i
®  AEE
BRIEERE -40°C ~ 80°C 30VAC / 1.5A (6 & 8 Pin) e
¥ 54 IT4E 0.2 Nm BASAT 2]\ 100MQ M8x1  320-A3001-0VSL50 320-A4001-0VSL50 320-A6001-0VSL50 = 320-A8001-0VSL50 = 320-B5001-0VSL50
23R 0.6 Nm BEES R I M=
i & 1REEBIRER D BIHEE
EE% X =] ﬁﬁéi\ﬁ % . . e .
B/ FARE Es/ IEC 61076-2-104: Detail specification for M8 M10 x 0.75 321-A3002-0VSL50 321-A4002-0VSL50 321-A6002-0VSL50 ~ 321-A8002-0VSL50  321-B5002-OVSL50
ey e PA connectors with screw-locking
NAERE =S S FR IEC 60512: Electromechanical components for Em]é
RETIEAE electronic equipment; basic testing procedure and ey 23K 2
9haR HEeER > ivdnedesl - B RUSHEC (2R et
. = RE SR an sk
B NBR IEC-60529: Degree of protection provided by @ NI AE
E7e PVC (UL AWM 1061) enclosures (IP Code) usTED
BIAZR 7 UL 94 HB e g UL2238 M8 x 1 330-A3001-S 330-A4001-S 330-A6001-S 330-A8001-S 330-B5001-S
EEEIE el
ZEIHRENERNEMSE  WERBSEERERAECIRETIZTREYT - NIREERARETEHB R SENER - BINEFH W B
RESR > IP54 PEEFERN - ERERBARKL - BED PCB AHERNTE -
M10x0.75  331-A3002-S 331-A4002-S 331-AB002-S 331-A8002-S 331-B5002-S

HHEEF AEMS UL+CUL 5358 B RESUKBENT R - 8L



M8 Rz = 4R & IF &t A-Code & B-Code

##ER % 0.5m BEFR

YN IE G D £ i 4
= Z =& &
SW10
B 7 1EMNE
YN ITE G D B i 4 R
2 = = =
== % == 2
AIEET 7 0.5m EF4R
)\ i I3 =) 3
7 Ui+ FEE 165 ] | £ Ui i [ |
o \“ i |.|
=l — S m‘ | I —
= | = = % ‘ f A
’ s
SW12
AItHT & EMEt
72 Ui 1 8 £ Ui 1
o — &
o & 3 © -
o =g | s
= I
L¥2
fmFHESIU BB REEE
8 Red #I
7 Blue B
- 6 Pink #) 6 Pink #)
3 5 Gray X 5 Gray X 5 Gray X
E 4 Black 2 4 Black & 4 Black & 4 Yellow = 4 Black 72
3 Blue E£ 3 Blue 2 3 Blue & 3 Green # 3 Blue 2
2 - 2 White B 2 White B 2 Brown #7 2 White B
1 Brown 17 1 Brown 17 1 Brown i% 1 White B9 1 Brown 1%
g O O <OF -
: 070 é@ 2 050l e 50
g 5 3 0%O 2007 O
g [ A
it 3P 4P 6P 8P 5P
o Acode B code

M8 PCB T\ [El/iZE##3

— A afl IR

HT¥R) M8 BIftZ 188 25 BB TN 8mm AHIRAUER BT IP68 B BhE SR -

oligafsR - ERMEBENEZ LM EESRE PCB - 2LHME

HEFEERANERSRZ— &

AEEHEJEERENMEERGNAE - BEES  BEREFNERER -

fmime M8 3k M12 1y PCB Bl @ a3 2 IR A MBI IR BIINR - Be e BHBEERER

RAVRR F T SR B O] SERIRARE -

e

B/NERRE 100

FhE SR IP68 BEER /BEER

BIERE -40°C ~ 80°C

S Edivi] 0.2 Nm BEEET

ZEME 0.6 Nm BEELER
MIER

B2/ KHEERE mas/ e

BReEAe PA

NAES E=Fi=perkiiF: AR

GhRR e EiER

zaEalis] NBR

PRASER , 5 UL 94 Vo By b

AEEE

96hr
Salt

ul. &3
CEGES) c\YL Jus &
Q OW

7 LISTED

ERH

B0VAC / 4A (< 4 Pin)

30VAC / 3A (5 Pin)
30VAC / 1.5A (6 & 8 Pin)
£/)\ 100MQ
[

1REER RS

IEC 61076-2-104: Detail specification for M8
connectors with screw-locking

IEC 60512: Electromechanical components for
electronic equipment; basic testing procedure and
measuring methods

IEC-60529: Degree of protection provided by
enclosures (IP Code)

UL 2238

BEIRENBRANEMSE - W EARBEEREEHHC EREETLZRY - IREEFF[ABEENBRSFNER - AILAER

RESH > IP54 WEER/EEY - BERERBARKE - EE5 PCB AR EMNTE -



M8 ikl PCB I A-Code & B-Code X PCB ffi#R/~[E

w RS A A A A B
iR FEcE .
B 3 4 6 8 5
BEEER/ER 60V / 4A 60V / 4A 30V /1.5A 30V /1.5A 30V /3A

PwP  BIKS AWP BikS AKP 8BKS QkP BKS RIKP  BIES

Bl o 00 ;O 69 8D
Bl ¢ 42 3 s 3 1
" 6 RS O B &

180° Ll 5™ AUEHEC

& [ TE 2 4L sk
UNIEREES
cg‘%us
M8 X 1 326-A3001-4 326-A4001-4 326-A6001-4 326-A8001-4 326-B5001-4
M=
£ 1 [EE
c@mus

M10x0.75  327-A3002-4 327-A4002-4 327-A6002-4 327-A8002-4 327-B5002-4

=
==Y
=

HHIEF A ERS UL+CUL 33:E

180° 5@ AUEHIU R

DIk EEE B 1 5 KB
2
0| — Ll =
| % JE
= = =
PCB Layout
- 3.5 601 2
3 B 35, 2 %L Lo
T [e»)
& ™ = RS -
— o —
i 13 .
913 - 979 ARG
5 T
E 40 folo) 593 F8h OO
g ? 9 o O 2 5934 bsd
£ ! 3 13 ' 6?2 15802 O
s a 0
[=
o
3p 4P 6P 8P 5P
A code B code

R

Boff

HRBERE

4

R~t

R E R

1

-

2R

i
Jax]
i

I M16 x 1.5, Pg9

M16 x 1.5, Pg9

M12

M8

(2% / $1T=RE
M12 25 BB EHE -

VEEE - G OEET AR RIRABIKE -

M8

300-A003

300-A004

B A

300-A005

300-A001

300-A002

2o
§

B RERIREG O RiEE AR ERRER T - B FHEL 7 M8 Al
RIBFRECEIE RN IP E4 - FhIZRAERARVERTUA PCB
BB ERBREPRISEMERER -

M12
N B A
200-A001
200-A002
200-A003
200-A004




